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Question Number : 1 Question Id : 97675521421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are given, followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to be at
variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.

Statements:

All jokers are creative.

All creative are educated.
Some jokers are entertaining.

Conclusions:
I. Some educated are entertaining.
II. Some creative are jokers.

Options :



1. # Only conclusion I follows

2. % Only conclusion II follows

3. % Either conclusion I or II follow
4. ¥ Both conclusions I and II follow

Question Number : 1 Question Id : 97675521421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 2 Question Id : 97675521422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following diagram, the "Rectangle' stands for “Musicians', the 'Circle' stands for ‘Indians’, 'Triangle' stands for

*Awardees’. The letters given in the different segments represent persons of that particular category.

Which of the following category is represented by the letter “E’?
Options :
1. ® Awardee Musicians who are not Indians
2. ¥ Indian Awardees who are not Musicians
3. # Indian Musicians who are not Awardees

4. ® Indian Awardees who are Musicians also

Question Number : 2 Question Id : 97675521422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 3 Question Id : 97675521423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that represents the CORRECT order of the given words as they would appear in an English dictionary.

1. Change
2. Charity
3. Chores
4. Chariot
5. Chant

Options :

1. % 1,5,2,4,3
2.%1,4,52,3
3.%5,1,4,2,3



4.4 1,5,4,2,3

Question Number : 3 Question Id : 97675521423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. Change
2. Charity
3. Chores
4. Chariot
5. Chant

Options :

1. % 1,5,2,4,3
2.% 1,4,5,2,3
3.5 1,4,2,3
4.4 1,5,4,2,3

Question Number : 4 Question Id : 97675521424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

PARTICLE : TRPLIECA :: CORTEX : ?
Options :

1. ¥ XTOREC

2. % XTROEC

3. % CTREOX

4. % XRTOEC

Question Number : 4 Question Id : 97675521424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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PARTICLE : TRPLIECA :: CORTEX : ?
Options :

1. # XTOREC

2. ¥ XTROEC

3. % CTREOX

4. ¥ XRTOEC

Question Number : 5 Question Id : 97675521425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Secured’ is related to ‘Dangerous’ in the same way as ‘Scarce’ is related to
Options :

1. # Safe

2. # Perilous

3. % Abundant

4. # Scanty

Question Number : 5 Question Id : 97675521425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gfard

2. % ifgH

3. ¢ Ui

4, % 34

Question Number : 6 Question Id : 97675521426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If A # B means ‘A is the husband of B’ A % B means ‘A is the daughter of B.” Then which of the following expression means ‘M is the daughter
of R’?

Options :

1.%#* R%T#M
2.9 M%T#R
3. % T%M#R
4. # M#R % T

Question Number : 6 Question Id : 97675521426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

.* R%T#M

2. M%T#R

3. T%M#R

4. % M#R%T

Question Number : 7 Question Id : 97675521427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, EMOTION is written as PNFGOPJ, SECONDS is written as DFTLTEO. How will MONDAYS be written as in that
language?

Options :

1. % OPNUZTB
2. % NPOVTZB
3. ¥ OPNWTZB
4. % OPMWZTB

Question Number : 7 Question Id : 97675521427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ OPNUZTB

2. % NPOVTZB

3. ¥ OPNWTZB

4. % OPMWZTB

Question Number : 8 Question Id : 97675521428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, ‘circle’ is written as ‘rice’, ‘rice’ is written as ‘colour’, ‘colour’ is written as ‘iron’, ‘iron’ is written as ‘red’, and ‘red’ is
written as ‘blue’; then what is round in shape?

Options :
1. # circle
2. ¥ rice
3. # iron
4. % red

Question Number : 8 Question Id : 97675521428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 9qd
2. ¥ Tldd
3. % gl

4. % dd

Question Number : 9 Question Id : 97675521429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Among four houses A, B, C and D; D is 40 m north to C. A is 60 m east to C. B is 50 m south to C. How far and in which direction is B with
reference to D?

Options :

1. % 90 m, South
2. % 90 m, North
3. # 110 m, South
4. # 100 m, North

Question Number : 9 Question Id : 97675521429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 90 m, GI&OT

2. % 90 m, 3T

3. % 110 m, GI&OI

4. % 100 m, 3R

Question Number : 10 Question Id : 97675521430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four letter-clusters pairs have been given, out of which three are alike in some manner and one is different. Select the odd letter-cluster pair.
Options :

1. ®* TONGS : SGNOT

2. # PRIME : EMIRP

3. ¥ MARKS : SKRAM

4. % FIRST : TRSIF

Question Number : 10 Question Id : 97675521430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TONGS : SGNOT

2. % PRIME : EMIRP

3. ¥ MARKS : SKRAM

4. % FIRST : TRSIF

Question Number : 11 Question Id : 97675521431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Six letter-number-symbol clusters are given. Which of the two letters clusters are exactly similar.

1)G5S585#2KPR
2)GSS5T7#5&2KPR
3)GS57$5#2KPR
4YGSS5785#2KBR
5)GS578$5#2KPR
6)GSS5788#2YPR
Options :

1. # 1) and 6)

2. % 2)and4)

3.4 3)and 5)

4. % 4)and 5)

Question Number : 11 Question Id : 97675521431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1)G58585#2KPR
2)GS57#5&2KPR
3)GS57$5#2KPR
4)GS57$5#2KBR



5)GS5785#2KPR
6)GS57$8#2YPR

Options :

1. % 1) 3R 6)
2. % 2) 3R 4)
3. ¢ 3) 3R 5)
4. % 4) 3R 5)

Question Number : 12 Question Id : 97675521432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to the photograph of a boy Ankur, Malti said, ‘his father’s only son is the brother of my daughter Damini.” How is Damini’s father
related to Malti?

Options :

1. # Father
2. % Brother
3. % Husband
4. % Nephew

Question Number : 12 Question Id : 97675521432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fOdr

2. % TS

3. ¢ Ufd

4. % ol

Question Number : 13 Question Id : 97675521433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A statement is followed by two assumptions numbered I and II. Consider the statement and decide which of the given assumption(s) is/are
implicit in the statement.

Statement:
The literacy rate in this village is abysmally low due to lack of awareness for education and non-availability of schools.

Assumptions:
I. Nobody in the village is educated.
II. Due to lack of education, the villagers have no means of livelihood.

Options :

1. * Only assumption I is implicit
2. % Only assumption II is implicit
3. # Both assumptions are implicit

4. ¥ Neither assumption I nor II is implicit

Question Number : 13 Question Id : 97675521433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 14 Question Id : 97675521434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the figure that will come next in the following figure series.

—_— G
o J; nT ?
o—— )

Options :

—0
X

Question Number : 14 Question Id : 97675521434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 15 Question Id : 97675521435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the figure that will replace the question mark (?) in the following figure series.

0 v = @
?
Options :
= -
1. % = e
[
O

Question Number : 15 Question Id : 97675521435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 16 Question Id : 97675521436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the figure that is related to the third figure in the same way as the second figure is related to the first figure.

EXEH YK

3 4

Options :

piil
i
7

Y

<=

<=

4_3%-5_

Question Number : 16 Question Id : 97675521436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 17 Question Id : 97675521437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

How many triangles are there in the figure given below?

Options :
1. % 12
2.% 13
3. % 14
4. % 15

Question Number : 17 Question Id : 97675521437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & s o et gt 0

Options :
1. #* 12
2.¥ 13
3.% 14
4. % 15



Question Number : 18 Question Id : 97675521438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECT mirror image of the given figure when the mirror is placed to its right side.

RKM45WA

Options :

AWSVYMNH4A
,-AMChINANA
.+ AWCMMNAHA
.- VWCAMMH

Question Number : 18 Question Id : 97675521438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

AWSVYMNAA



,-AMCMNANA
.+ AWCAMAHA
.« VWCAMMHA

Question Number : 19 Question Id : 97675521439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which number in the following number series is WRONG?

15, 18, 20, 29, 45, 70, 106
Options :

1.+ 18

2. %29

3. % 45

4. % 20

Question Number : 19 Question Id : 97675521439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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15, 18, 20, 29, 45, 70, 106
Options :

1. ¥ 18

2. %29

3. % 45

4. % 20



Question Number : 20 Question Id : 97675521440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the given four number triads are similar in a certain manner while one is different. Choose the odd one out.

Options :

1. % 7:347: 4
2.9 8:513:7
3.% 9:734:5
4. % 6:223:7

Question Number : 20 Question Id : 97675521440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 7:347:4
2.9 8:513:7
3.% 9:734:5
4. % 6:223:7
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Edit Attended Group? : No
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General Awareness

Section Id : 9767551173
Section Number : 1
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675521441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Recently who has been choosen as vice chief of indian navy in July 2021?
Options :

1. ¥ Vice Admiral S.N. Ghormade

2. % Vice Admiral G. Ashok Kumar

3. % Vice Admiral Ajit Kumar P

4. # Vice Admiral Karambir Singh

Question Number : 21 Question Id : 97675521441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 9159 TSR 4.0, URAS

2. % 913Y TSR Gil. =M $UAR



3. % 912y TSR Sifold $UR Ui
4. % 39 USIIRA HAaR Rig

Question Number : 22 Question Id : 97675521442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who launched the innovation mission Punjab?
Options :

1. # Narendra Modi

2. ¥ Amrinder Singh

3. % Rajnath Singh

4. # Charanjit Singh Channi

Question Number : 22 Question Id : 97675521442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR AR USTTe &1 YURY fobe favam
Options :

1. % g Al

2. ¢ SRR Rig

3. % Iy g

4. % RO g <=l

Question Number : 23 Question Id : 97675521443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In September 2021, who among the following was appointed as the brand ambassador of Samagra Shiksha Abhiyan in Assam?
Options :

1. # Mirabai Chanu

2. % PV Sindhu

3. ¥ Lovlina Borgohain



4. % Avani Lekhara

Question Number : 23 Question Id : 97675521443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RydeR 2021 H, FAafeiead & 9§ orqm & W e e & §is tausr & wu H 6y fFgad farar mar g2
Options :

1. % HREE 91

2. % Uidt ¥y

3. ¢ AT IR

4. % 3fA AR

Question Number : 24 Question Id : 97675521444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the theme of world cancer day 2021?
Options :

1. % Tam and I will

2. % Not beyond us

3. # We can, I can

4. % You will win

Question Number : 24 Question Id : 97675521444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« g 3R T G (I am and I will)

2. % Y M sl (Not beyond us)

3. % WWW%, ﬁWWg(We can, I can)
4. % 3T ST (You will win)



Question Number : 25 Question Id : 97675521445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following became the first IAS officer to win a medal in Badminton at the Tokyo Paralympics games 20217
Options :

1. # Sukant Kadam

2. % Pramod Bhagat

3. * Parul Parmar

4. % Suhas Lalinakere Yathiraj

Question Number : 25 Question Id : 97675521445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ goid heH

2. % JHIG YITd

3. % URd IRHAR

4. JWWW

Question Number : 26 Question Id : 97675521446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the plant found in indus valley whose roots and twigs have been widely used as toothbrush.
Options :

1. # Proboscidea

2. # Jammi

3. # Azadirachta Indica

4. % Salvadora Persica

Question Number : 26 Question Id : 97675521446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® m@?ﬂﬁﬂ[(l)roboscidea)

2. % \_ﬂIﬁ(Jammi)

3. % 3fSIGIRTT SfSHT (Azadirachta Indica)

4. ¢ FledTe R 1JIﬁ‘-WT(Salvadora Persica)

Question Number : 27 Question Id : 97675521447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following dance, an actor never opens his lips?
Options :

1. ¥ Kathakali

2. % Mohiniyattam

3. ¥ Kathak

4. ¥ Kuchipudi

Question Number : 27 Question Id : 97675521447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ HYDa

2. % Hifg-ercd

3. ¥ dYh

s % R

Question Number : 28 Question Id : 97675521448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In March 2021, ‘Banana Festival’ is organized in which city of Uttar Pradesh?
Options :

1. * Sharanpur

2. # Lakhnow

3. ¥ Kushinagar

4. % Gorakhpur

Question Number : 28 Question Id : 97675521448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Hell Helcd” BT SIS A1d 2021 H IR UG & fobvg g # foban am
Options :

1. % HgRAYR

2. % G1$H

3. ¢ PRTR

4. % TREPR

Question Number : 29 Question Id : 97675521449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the standard shape of harappan seals?
Options :

1. # Rectangular

2. ¥ Square

3. % Circular

4. ® Triangular

Question Number : 29 Question Id : 97675521449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
eSWI Cdl J;J,GQ\I'W HID TR T Y[?




Options :

1. # AYdHR
2. ¢ TMHR
3. % gdhR
4, % PSR

Question Number : 30 Question Id : 97675521450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who designed ‘Hawa Mahal’ situated in Jaipur?
Options :

1. # Jai Singh

2. % Lal Chand Ustad

3. # Ratan Singh

4. % Hari Singh

Question Number : 30 Question Id : 97675521450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR R gar g fhad g1 feerms fovar mar ur
Options :

1. % oy g

2. ¥ T1q 9 3G

3. % Ia9 g

4. % gRI¥E

Question Number : 31 Question Id : 97675521451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year Swami Dayanand Saraswati Established the Arya Samaj in Bombay?
Options :



1. ¥ 1875
2. % 1775
3. % 1857
4. % 1757

Question Number : 31 Question Id : 97675521451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wl UG GREI A Svel H 31 TS b R fog oy b1 e
Options :

1. ¥ 1875

2. % 1775

3. % 1857

4. % 1757

Question Number : 32 Question Id : 97675521452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states” Manda buffalo got the indigenous tag in 2021?
Options :

1. * Haryana

2. % Jharkhand

3. % Punjab

4. ¥ QOdisha

Question Number : 32 Question Id : 97675521452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa o I fog Isa o1 aieT BT &) 2021 H WeRf 77T BT T (Indigenous Tag) Fam

Options :

1. % g



2. % IRES
3. % Uod
4. NS

Question Number : 33 Question Id : 97675521453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state is lowest literacy rate in India in 20207
Options :

1. ¥ Andhra Pradesh

2. % Kerala

3. # Punjab

4. % Haryana

Question Number : 33 Question Id : 97675521453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 T YRd BT G HH JT&RdT & aTdl IT DI T Y12
Options :

1. S eI

2. %

3. % 99

4. % g

Question Number : 34 Question Id : 97675521454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In union Budget 2021-22, how many Demands for grants were there?
Options :

1. ¥ 101

2. %90



3. % 82
4. % 89

Question Number : 34 Question Id : 97675521454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HET Foe 2021-22 T, IS B et 7Ry ot
Options :

1.+ 101

2. % 90

3. % 82

4. % 89

Question Number : 35 Question Id : 97675521455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cooperative banks were penalised by the RBI for deficiency in regulatory compliance in September 20217
Options :

1. ¥ Shikshak Sahakari Bank, Nagpur

2. # Saraswat Cooperative Bank, Mumbai

3. % Cosmos Cooperative Bank, Pune

4. # Bharat Cooperative Bank, Ahmedabad

Question Number : 35 Question Id : 97675521455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rt gRT RideR 2021 H Fam® sruteH # w41 & fae FafaRad & 3 foy Tear! d& &1 <fed fasar mar un
Options :

1. ¢ & GgHRI dp, TFTGR

2. % YR YEPR b, Heg

3. % HIgUN eHRI 9o, goI



4. % YRd gHRI 9, gHGEIG

Question Number : 36 Question Id : 97675521456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the 127" Constitutional Amendment related to?

Options :

1. #® Extension for the deadline for cessation for the reservation of seats for members from Schedule castes and Schedule tribes in Lok Sabha.
2. ¥ To restore the power of the states to identify the backward classes.

3. # To amend the provisions of the finance commission.

4. ® To amend the village and municipal laws.

Question Number : 36 Question Id : 97675521456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1277 g Fee feed Teifid 79

Options :

1. % THIHTH TG ST 3R TSI & Jal & oTE Tiel & SREFTT B JHIG B THT AT B R |
2. ¢ UDS I Bl U B & oTu I3 &1 Wfad &1 8T BT

3. % fo<7 SANT o UTqu™l | RN BT

4. % Tig 3R TRUTABT B & FRNYF HRAT|

Question Number : 37 Question Id : 97675521457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most celebrated festival of Kerala?
Options :

1. % Lohri

2. % Teej

3. % Losar

4. ¥ Onam



Question Number : 37 Question Id : 97675521457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ o 1 5 &1 Ta 31fds A9/ S a1l AER 82
Options :

1. % g

2. % diSl

3. % ARR

4. ¢ 3o

Question Number : 38 Question Id : 97675521458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which part of Rajasthan was the 200 million years old footprints of 3 species of dinosaurs found in 2021?
Options :

1. * Bikaner

2. % Jaisalmer

3. # Pushkar

4. # Jodhpur

Question Number : 38 Question Id : 97675521458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI & forg YT & 98 2021 H STARIR &1 3 Yot o 200 e a8 R 0 & =i e g Qo
Options :

1. % SR

2. ¢ AR

3. % Jth

4. % SIYQR



Question Number : 39 Question Id : 97675521459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following hormone is secreted by thyroid Gland?
Options :

1. ¥ Thyroxine

2. % Aldosterone

3. ¥ Prolactin

4. % Angiotensin

Question Number : 39 Question Id : 97675521459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrofaRad o 9§ 1F 91 g YrRIaS Uiy gRT w1fad giaT 87
Options :

1. ¢ YTRATRIT (Thyroxine)

2. % TGIERM (Aldosterone)

3. % Yraifged (Prolactin)

4. ® W(Angiotensin)

Question Number : 40 Question Id : 97675521460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an example of convectional current?
Options :

1. % Boiling of Water

2. % QOcean currents

3. % Campfires

4. ¥ Troning of clothes

Question Number : 40 Question Id : 97675521460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % Ot T Sga-]
2. % HUIT YRTY

3. % HYBRR

4. ¥ PUS TR I (U) HAT
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675521461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifx=(0.93 ~0.84)%0.72 + 0.4, then the value of (1.125x — 0.6) is:
Options :

1.4 0.8

2. % 0.75

3. % 0.5

4. % 0.525

Question Number : 41 Question Id : 97675521461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afg x = (093 ~ 0.84)x 0.72 + 0.2 g, @ (1.125x- 0.6) T AT FAT M2
Options :

1. 0.8

2. % 0.75

3. % 0.5

4. % 0.525

Question Number : 42 Question Id : 97675521462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a school, the number of girls is % th of the number of boys. If % th of the number of girls and % rd of the number of

boys took part in a social camp, then what part of the total students did NOT take part in the camp?
Options :
8
1% 15



NS}
¥
|

Question Number : 42 Question Id : 97675521462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
8
| % 15

3
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Question Number : 43 Question Id : 97675521463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The HCF of 767, 2006 and 2773 is x. What is the sum of the digits of x?
Options :

1. % 11

2.% 12

3.% 13

4.9 14

Question Number : 43 Question Id : 97675521463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

767, 2006 3R 2773 1 HETH JHUAAD (HCF) x & | x P 3] BT TNT &1 RT?
Options :

1. % 11

2. % 12

3.% 13

4.9 14

Question Number : 44 Question Id : 97675521464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LCM and HCF of x and y are 7821 and 79, respectively. If x is divided by &, the quotient is 88 and the remainder is 7. The value of y is:
Options :

1. % 790

2. %1027

3. ¥ 869

4. % 948



Question Number : 44 Question Id : 97675521464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

x 3R y & TYTH FHIGH (LCM) 3R HgTH YHIG® (HCF) HHR: 7821 3R 79 §1 TS x ®I 8 F fauifora fowan Siran g, df Ui 88
31T g 3R AYBd 7 a1 8 | y BT HH T 2

Options :

1. % 790

2. % 1027

3. ¢ 869

4. % 948

Question Number : 45 Question Id : 97675521465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let ‘n’ be the least number which when divided by 176, 330 and 495, the remainder in each case is 23 and ‘n’ is divisible by 29. What is the
value of ‘n’?

Options :

1. ® 15776
2. % 15834
3. ¥ 15863
4. % 15921

Question Number : 45 Question Id : 97675521465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AE P 0’ 98 Bt T I TBI § SR 176, 330 3R 495 T UG F31 R UdS fUfA A A9 23 a1 8 3R 0, 29 I faursy
81 ‘n’ BT HH FT I

Options :

1. % 15776

2. % 15834

3. ¢ 15863

4. % 15921



Question Number : 46 Question Id : 97675521466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 2021, a cricket team wants to win 80% of games out of 240 games to be played. Out of 90 games already played, the success rate is 70%.
What should be the success rate for the remaining games in order to reach the target?

Options :
1. % 71.4%
2. % 78.6%
3. % 80%
4. ¥ 86%

Question Number : 46 Question Id : 97675521466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 H, T fohdbe 0 Wl OfF aTel 240 Tl & J 80% Hl SiiaT dTgd! ¢ | 39% gRT Ugd Wdl oI gob 90 Tl H I, Ghadl ax 70% ¢ | a6
% Ugd & U /Y Well bt Gl &R foba- gl Afge?

Options :

1. % 71.4%

2. % 78.6%

3. % 80%

4.9 86%

Question Number : 47 Question Id : 97675521467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two washing machines A and B are bought for a total of ¥ 12,900. Washing machine A is sold at 10% loss and B at 25% profit. If the selling
price of both the machines is the same, then the cost price of A exceeds the cost price of B by:

Options :

1. ® %1,750
2.%%2,100
3. % 32,000



4. % X2,400

Question Number : 47 Question Id : 97675521467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& R AR A 3R B @ 2 12,900 H WIS S € | ATFRAT TR A Y 10% BT WR IR B B 25% ATH WR &1 SI1dT 5 | A -1 A=A &1
fAohd Jed THM §, < A 1550 Jod B & Y Yoo I fohaT 3T §2

Options :

1. % 21,750

2.9 32,100

3. % 32,000

4. % 32,400

Question Number : 48 Question Id : 97675521468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The present ages of A and B are in the ratio 3 : 8. After 9 years, the ratio of their ages will be 6 : 13. What was the ratio of the ages of A and B, 6
years ago?

Options :
1. % 2:5
2. % 715
3.% 5:12
4.¥3:10

Question Number : 48 Question Id : 97675521468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B &1 GH 3T 6T I 3 : 8 §1 9 TN §1G, SD! 3T BT U 6 : 13 BT 6 TH T4 A 3R B P13 BT SI0T FT UT?
Options :

l.*2:5

2.% 7:15

3.%5:12



4.4 3:10

Question Number : 49 Question Id : 97675521469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain sum amounts to ¥ 11,200 in 4 years and to T 12,950 in 6$ years at a certain rate per cent p.a., both at simple
interest. The sum (in Z) and the rate of interest p.a. respectively, are:

Options :

| % 8,000 and 9%

2.400 and 819
2. 3

2.500 and 8 § %

2.500 and 8 ; %

Question Number : 49 Question Id : 97675521469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬁaﬁmﬁ%mﬁqwﬁﬁaﬁﬂﬂ-?ﬁ4aﬁﬁfﬂ,2mB-ﬂ'{ﬁgl ISt #F 7 12,950,
ST 9T HTURUT =47 &7 &ear g1 a9a1-uter (2 #) 3 sa= Fr ot gfoea &3 #1272

Options :
| = 8,000 3R 9%

8,400 3T 82 %
2.9 3



8,500 3t 82 %
3. -4 3

- 8,500 3t 82 %
4, % 2

Question Number : 50 Question Id : 97675521470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the compound interest on the sum of ¥ 6.000 at 10% p.a in 3§ years, interest compounded annually? (nearest
toa?3)

Options :

1. ¥ 32,625

2. % 32,635

3. ¥ %2715

4, % 32,745

Question Number : 50 Question Id : 97675521470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

76,000 Fr ga-Tfer O3 3% aut H 10% e T # e § Ahgrg O [ohdeAT EIeT, ST #r
AOTAT AR FT H T 87 (2 F FFean)

Options :

1. ¥ 22,625

2. % 22,635

3. % 32,715

4. % 32745

Question Number : 51 Question Id : 97675521471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The marked price of an article is ¥ x. A shopkeeper earns 25% profit by selling it at a discount of 162 % on its marked
price. If the cost price of the article is T 120, then what is the value of x?

Options :

1. # 175

2.9 180

3. %190

4. % 200

Question Number : 51 Question Id : 97675521471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TEG F T 7T 2 x §| TF GEER FH SHH Ifahd HeF W 162 % A Fe o gT T
25% W Ao &ar gl IfE 957 1 HT HeF 1120 §, aF x HT AT F47 gem?

Options :

1. % 175

2. % 180

3. % 190
4. % 200

Question Number : 52 Question Id : 97675521472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 42 numbers is 52.5. If the average of first 16 numbers is 55 and that of last 6 numbers is 50.5, then what is the average of the
remaining numbers?

Options :
1. ¥ 51.1
2. % 51.8
3. % 524
4. % 53.6



Question Number : 52 Question Id : 97675521472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 T3l BT 3T 52.5 51 TG SRIUD 16 TBATSM BT 37Gd 55 7 SR SHfcrd 6 TeAmadl o7 3fied 50.5 7, A AT GBS BT 3 T
BT

Options :

1. ¥ 51.1

2. % 51.8

3. % 524

4. % 53.6

Question Number : 53 Question Id : 97675521473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average marks obtained by 60 students in a test is 50. If the average marks of the passed students is 54 and that of students who failed is 30,
then what is the number of students who passed?

Options :
1. ¥ 50
2. % 48
3. % 45
4. % 42

Question Number : 53 Question Id : 97675521473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TRIET & 60 BTH! GRT UK Sf9d 3fa 50 & | TG S0 SHT B 3N 3P 54 § SR T ST B 3¥Id 3P 30 €, A S0 ST D
e farat 82

Options :

1. ¥ 50

2. % 48

3. % 45



4. % 42

Question Number : 54 Question Id : 97675521474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipes A and B can fill an empty tank in 15 hours and 20 hours, respectively. While pipe C alone can empty the full tank in 10 hours. A and B are
opened together for 8 hours and then both pipes are closed and C is opened. C alone will empty the tank completely in

Options :

2
8- hours
1. #* 3

> % 8 hours

1
8= hours
3.¢ 3

4 % 9 hours

Question Number : 54 Question Id : 97675521474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TI3Y A 3R B TH Wl ¢ Bl HHTT: 15 °S 3R 20 B¢ T IR Thd ¢ | &b 13T C 3hal T Sl DI 10 TS T WIeh HR GHhdT 81 A 3R B
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UG | @rell R G

Options :

82 we
1. e 3
) x 8 °E

1
3. 3



4 9 e

Question Number : 55 Question Id : 97675521475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipe A can fill an empty tank in 20 minutes, whereas pipes B and C can empty full tank in 15 minutes and 12 minutes respectively. A alone was
opened for 9 minutes, then it is closed and B and C were opened together. How much time (in minutes) will B and C together take to completely
empty the tank?

Options :
1.¥3
2. % 4
3.%5
4. % 6

Question Number : 55 Question Id : 97675521475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T12U A T @Tell ¢ @i 20 e H 1R Tehdl 8, STafdh ISy B 3R ¢ T HRI §5 ¢! &l HART: 15 e iR 12 e el s ddhd g1 A
I 3P 9 e & forg Wiem ma, R 39 &g R a1 a1 8iR B 3R ¢ &1 T 1Y Wi fean 11 B 3R ¢ fHraas <t &l g avg wrelt
B H foba wwg (e #) oo

Options :

1.¥3

2.% 4

3.%5

4. % 6

Question Number : 56 Question Id : 97675521476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The distance between two places X and Y is 300 km. A car starts from X and another car starts from Y at the same time on the same day and



move towards each other. The distance between them after 2 hours is 50 km. If the speed of the car that starts from X is 25 km/h less than that of
the other, then what is the speed (in km/h) of the car which starts from Y?

Options :
1. % 50
2. % 60
3.¥ 75
4. % 80

Question Number : 56 Question Id : 97675521476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR X 3R Y & S DI g3 300 km 81 T HR X F T RY FRA! 8 3R GO BR Y F I 37 I TG I T 3IRY HRel § 3R
S Th TR DI 3R Tl 3| 2 B &P 1 3P §1F B g3 50 km I Sl 8| TS X T I aTell HR 1 16 ST R B ga1 H 25 km/h
AR, dl Y T Ia- arelt HR B A (kn/h H) 7 112

Options :

1. % 50

2. % 60

3.9 75

4. % 80

Question Number : 57 Question Id : 97675521477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The perimeter of the base of a right circular cylinder is 176 cm and its height is 40 cm. What is the capacity (in litres)

of the cylinder? (Take n = % )

Options :
1. % 86.24
2. %924
3. ¥ 98.56
4. % 1232



Question Number : 57 Question Id : 97675521477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U OF Jodld S0 o AR & IATT 176 cm g 3R $TH Fa1g 40 cm g1 Fo0F Hr ariiar (e
) F2r gl (n = 2 A

Options :
1. % 86.24
2. % 924
3. ¥ 98.56
4, % 1232

Question Number : 58 Question Id : 97675521478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A wire is in the shape of a circle of radius 35 cm. This wire (whole) is used to form a rectangle whose sides are in the

ratio 7 : 4. What is the area (in cm?) of the rectangle? (Take m = ET—E )

Options :
1. % 1008
2. % 2268
3. % 2800
4. % 3850

Question Number : 58 Question Id : 97675521478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. * 1008
2. % 2268
3. ¢ 2800
4. % 3850

Question Number : 59 Question Id : 97675521479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following bar graph and answer the questions.

00
Imports and Exports of a company during 2014 to 2018 (in Rs Crores)
o0
B Imports
500 W Exports
450 440 450
Ly
e
"]
:
w 300
L
=
200 -
100 -+
0
2014 2015 2016 2017 2018
Year —->

The total imports of the company in 2014 and 2017 is what percent more than the average exports in 2017 and 20187
Options :
1. #% 42.9%



5 % 65.5%

662%
3. =3 3

4.« 15%

Question Number : 59 Question Id : 97675521479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



| 42.9%

5 % B85.5%

662 %
3 k=3 3

4 v 75%

Question Number : 60 Question Id : 97675521480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following table and answer the question.

Number of students enrolled for vocational courses in institutes A. B. C and D in years 2015 to 2019

Year— | 2015 | 2016 | 2017 | 2018 | 2019
Institute
A 142 | 135 | 158 | 140 | 143
B 140 | 145 | 142 | 135 | 130
C 138 | 150 | 152 | 147 | 133
D 150 | 140 | 155 | 138 | 145

What is the ratio of the total number of students enrolled in 2018 in all the four institutes to the total number of
students enrolled in institute C in all the five years?
Options :
1. % 4
2.% 6:
3.¥ 7
4. % 8

O O 3 W



Question Number : 60 Question Id : 97675521480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 4:5
2.% 6:7
3.7:9
4. % 8:9
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Question Number : 61 Question Id : 97675521481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

Be the youngest child, Kiran was her father’s favourite.

Options :

1. ¥ Be

2. % youngest
3. % was

4. * father’s

Question Number : 61 Question Id : 97675521481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

Be the youngest child, Kiran was her father’s favourite.

Options :

1. ¥ Be

2. # youngest
3. % was

4. % father’s

Question Number : 62 Question Id : 97675521482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

Everything is strange here because this new job is different from any ’'m done before.
Options :

1. # Everything

2. % is

3. % this

4. ¥ I'm

Question Number : 62 Question Id : 97675521482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

Everything is strange here because this new job is different from any I’'m done before.
Options :

1. ¥ Everything

2. % is

3. # this

4.9 I’'m



Question Number : 63 Question Id : 97675521483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

was praised by both (P) / the policeman (Q) / who caught the thief (R) / his senior officers and the public (S)
Options :

1. # RQPS

2. % SQRP

3. ¥ QRPS

4. % QPSR

Question Number : 63 Question Id : 97675521483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

was praised by both (P) / the policeman (Q) / who caught the thief (R) / his senior officers and the public (S)
Options :

1. % RQPS

2. % SQRP

3. ¥ QRPS

4, % QPSR

Question Number : 64 Question Id : 97675521484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

when he grows up (P) / wants to (Q) / my brother (R) / become a teacher (S)
Options :

1. ¥ RQSP

2. % RSPQ



3. % QPSR
4. % PQRS

Question Number : 64 Question Id : 97675521484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

when he grows up (P) / wants to (Q) / my brother (R) / become a teacher (S)
Options :

1. ¥ RQSP

2. % RSPQ

3. % QPSR

4. % PQRS

Question Number : 65 Question Id : 97675521485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the CORRECT meaning of the following idiom from the options given below.

To turn turtle

Options :

1. ¥ To get married

2. % To turn upside down
3. ¥ To get promotion

4. #® To get money

Question Number : 65 Question Id : 97675521485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the CORRECT meaning of the following idiom from the options given below.

To turn turtle



Options :

1. # To get married

2. % To turn upside down
3. # To get promotion

4. ¥ To get money

Question Number : 66 Question Id : 97675521486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option is appropriate for the blanks.

These books belong to my parents. Put _ books , on the that shelf.
Options :

1. ¢ their; there

2. % there; there

3. #* their; their

4. # there; their

Question Number : 66 Question Id : 97675521486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option is appropriate for the blanks.

These books belong to my parents. Put books , on the that shelf.

Options :

1. % their; there
2. % there; there
3. * their; their
4. % there; their

Question Number : 67 Question Id : 97675521487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is the CORRECT meaning of the underlined idiom.

As if we did not have enough trouble, now the cat has disappeared. It never rains but pours.
Options :

1. ¥ unending troubles

2. % heavy downpour

3. % acat in the rain

4. % troubles due to rains

Question Number : 67 Question Id : 97675521487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the CORRECT meaning of the underlined idiom.

As if we did not have enough trouble, now the cat has disappeared. It never rains but pours.
Options :

1. ¥ unending troubles

2. # heavy downpour

3. % acat in the rain

4. % troubles due to rains

Question Number : 68 Question Id : 97675521488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A natural abode of an animal or plant
Options :

1. % forest

2. ¥ habitat

3. % flora

4. % fauna



Question Number : 68 Question Id : 97675521488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A natural abode of an animal or plant
Options :

1. # forest

2. ¥ habitat

3. # flora

4. % fauna

Question Number : 69 Question Id : 97675521489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A study of rocks and soils
Options :

1. # archeology

2. ¥ geology

3. % paleontology

4. # pathology

Question Number : 69 Question Id : 97675521489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A study of rocks and soils
Options :

1. # archeology

2. ¥ geology



3. % paleontology
4. # pathology

Question Number : 70 Question Id : 97675521490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is appropriate for the blank.

The cat was sleeping the box, but when it heard the doorbell ring it ran the door .
Options :

1. * into; for

2. #* from; to

3. ¥ in; to

4. * in; against

Question Number : 70 Question Id : 97675521490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is appropriate for the blank.

The cat was sleeping the box, but when it heard the doorbell ring it ran the door .
Options :

1. * into; for

2. % from; to

3. ¥ in; to

4. ® in; against

Question Number : 71 Question Id : 97675521491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

leata every day because it’s my favourite fruit.
Options :

1. * pair



2. ¥ pear
3. % peer
4. ¥ pare

Question Number : 71 Question Id : 97675521491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ieata every day because it’s my favourite fruit.
Options :

1. # pair

2. ¥ pear

3. % peer

4. # pare

Question Number : 72 Question Id : 97675521492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is the HOMONYM with the meanings ‘to pull apart’ and a hole in a piece of paper or cloth’.
Options :

1. ¥ Tear

2. ® Peer

3. # Dear

4. % Rear

Question Number : 72 Question Id : 97675521492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is the HOMONYM with the meanings ‘to pull apart’ and a hole in a piece of paper or cloth’.
Options :

1. ¥ Tear

2. % Peer

3. % Dear



4. % Rear

Question Number : 73 Question Id : 97675521493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct ANTONYM for the given word.

Damage
Options :

1. ¥ repair
2. % violate
3. * release

4. % weaken

Question Number : 73 Question Id : 97675521493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct ANTONYM for the given word.

Damage
Options :

1. ¥ repair
2. % violate
3. % release

4. % weaken

Question Number : 74 Question Id : 97675521494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the UNDERLINED idiom in the given sentence.

The honest don’t like a hole and corner policy.

Options :



1. # Average
2. % Medium
3. % Open

4. ¥ Secretive

Question Number : 74 Question Id : 97675521494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the UNDERLINED idiom in the given sentence.

The honest don’t like a hole and corner policy.

Options :
1. % Average
2. % Medium
3. % Open
4. ¥ Secretive

Question Number : 75 Question Id : 97675521495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following sentence, four words or phrases have been UNDERLINED. Identify the word or phrase which has an error in it.

He rose his hand every time the teacher asked a question.

Options :

1. ¥ rose

2. ® his hand
3. ® every time

4. % asked a question

Question Number : 75 Question Id : 97675521495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following sentence, four words or phrases have been UNDERLINED. Identify the word or phrase which has an error in it.



He rose his hand every time the teacher asked a question.

Options :

1. ¥ rose

2. * his hand
3. % every time

4. * asked a question

Sub-Section Number : 2
Sub-Section Id : 9767551367
Question Shuffling Allowed : Yes

Question Id : 97675521496 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

Once, Tenali Raman, who was well-known for his intelligence and wit, set out on a long journey. He carried with him a small bundle that had
some food, money and gold jewels. In those days, one had to walk through the jungle to get to another place. On the way Tenali Raman met a
young man who said to him, “Sir, there are many thieves here. I am afraid they will rob me. Can I join you?” Thinking that it would be good to
have some company, Raman readily agreed.

That night, the two of them stopped at a travellers’ rest house. Raman was tired and soon fell asleep. His companion was waiting for this
moment. In fact, he was a thief who used to rob travellers. He got up and looked under Raman’s pillow without disturbing him. He found
nothing. He carefully searched Raman’s pockets looking for money. To his disappointment, he did not even find a copper coin! Then, he opened
the bundle that Raman was carrying. Again, he found nothing. The next morning the two men continued on their journey. That night they decided
to rest outside a small temple. Being very tired after a long day’s travel, Raman quickly fell asleep. Again, his companion searched Raman’s
belongings, looking for money and valuables but this time too he ended up being disappointed.

The next day, the two travellers reached the holy city of Tirupati and it was time for them to part ways. The companion confessed that he was a
thief. He said, “In all these years that I have been a thief | have never failed. But this time I failed. Now that we are parting company, please tell
me where you had hidden your money and valuables. If I don’t know your secret, I may not be able to sleep,” he said. Raman smiled and said, “I
knew you were a thief the moment I saw you. I took care to hide the money where you would never find it.”

“But where? I looked for it everywhere,” cried out the thief.

“Did you look for it under your pillow?”” asked Raman.

“I looked for it under your pillow and found nothing. Why should I look for your money under my pillow?”” asked the puzzled thief. “That’s
because I hid the money under your pillow,” said Raman, “I was confident that it was the one place you would never look for my money and
valuables.”

Sub questions



Question Number : 76 Question Id : 97675521497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The young man joined Raman on his journey by saying that:
Options :

1. # he could be Raman’s guide to the holy city.

2. # he wanted to be his pupil

3. % he may be robbed by thieves .

4. % he had great respect for his intelligence.

Question Number : 77 Question Id : 97675521498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, the young man’s actual reason for wanting to travel with Raman was that:
Options :

1. # he was afraid of travelling alone.

2. ¥ he wanted to rob him.

3. # he did not know the way.

4. # he was his friend.

Question Number : 78 Question Id : 97675521499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, the young man was disappointed both the times because:
Options :

1. ¥ he could not find Raman’s money and valuables.

2. % Raman did not fall asleep .

3. # he realized that Raman was a poor man.

4. % he only found copper coins in Raman’s pocket.

Question Number : 79 Question Id : 97675521500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The young man confessed that he was a thief because:
Options :

1. # he was caught while stealing the money.

2. # he realized that Raman was a good man.

3. % it was the last time that he would be meeting Raman
4. ¥ it was the first time that he had failed to rob a man.

Question Number : 80 Question Id : 97675521501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raman hid his money under the young man’s pillow because:
Options :

1. % the pillow was big enough to hold the money and valuables.
2. % he knew that the robber would not think of looking there.

3. % it was too heavy to be kept inside his pocket.

4. % he did not have a pillow of his own.

Question Id : 97675521496 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

Once, Tenali Raman, who was well-known for his intelligence and wit, set out on a long journey. He carried with him a small bundle that had
some food, money and gold jewels. In those days, one had to walk through the jungle to get to another place. On the way Tenali Raman met a
young man who said to him, “Sir, there are many thieves here. I am afraid they will rob me. Can I join you?” Thinking that it would be good to
have some company, Raman readily agreed.

That night, the two of them stopped at a travellers’ rest house. Raman was tired and soon fell asleep. His companion was waiting for this
moment. In fact, he was a thief who used to rob travellers. He got up and looked under Raman’s pillow without disturbing him. He found
nothing. He carefully searched Raman’s pockets looking for money. To his disappointment, he did not even find a copper coin! Then, he opened
the bundle that Raman was carrying. Again, he found nothing. The next morning the two men continued on their journey. That night they decided
to rest outside a small temple. Being very tired after a long day’s travel, Raman quickly fell asleep. Again, his companion searched Raman’s
belongings, looking for money and valuables but this time too he ended up being disappointed.

The next day, the two travellers reached the holy city of Tirupati and it was time for them to part ways. The companion confessed that he was a
thief. He said, “In all these years that I have been a thief I have never failed. But this time I failed. Now that we are parting company, please tell
me where you had hidden your money and valuables. If I don’t know your secret, I may not be able to sleep,” he said. Raman smiled and said, “I



knew you were a thief the moment I saw you. I took care to hide the money where you would never find it.”

“But where? I looked for it everywhere,” cried out the thief.

“Did you look for it under your pillow?”” asked Raman.

“I looked for it under your pillow and found nothing. Why should I look for your money under my pillow?”” asked the puzzled thief. “That’s
because I hid the money under your pillow,” said Raman, “I was confident that it was the one place you would never look for my money and
valuables.”

Sub questions

Question Number : 76 Question Id : 97675521497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The young man joined Raman on his journey by saying that:
Options :

1. # he could be Raman’s guide to the holy city.

2. % he wanted to be his pupil

3. % he may be robbed by thieves .

4. # he had great respect for his intelligence.

Question Number : 77 Question Id : 97675521498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, the young man’s actual reason for wanting to travel with Raman was that:
Options :

1. # he was afraid of travelling alone.

2. ¥ he wanted to rob him.

3. # he did not know the way.

4. % he was his friend.

Question Number : 78 Question Id : 97675521499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, the young man was disappointed both the times because:
Options :

1. ¥ he could not find Raman’s money and valuables.



2. % Raman did not fall asleep .
3. # he realized that Raman was a poor man.

4. ® he only found copper coins in Raman’s pocket.

Question Number : 79 Question Id : 97675521500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The young man confessed that he was a thief because:
Options :

1. # he was caught while stealing the money.

2. # he realized that Raman was a good man.

3. % it was the last time that he would be meeting Raman
4. ¥ it was the first time that he had failed to rob a man.

Question Number : 80 Question Id : 97675521501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raman hid his money under the young man’s pillow because:
Options :

1. # the pillow was big enough to hold the money and valuables.
2. ¥ he knew that the robber would not think of looking there.

3. # it was too heavy to be kept inside his pocket.

4. ® he did not have a pillow of his own.
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Question Number : 81 Question Id : 97675521502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRed & 3 ®F 91 fadwed S &1 gaiar g2
Options :

1. ¥ 3D

2. % Iy

3.0

4. % gY

Question Number : 81 Question Id : 97675521502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed & ¥ oF 91 9oy S &1 yaiare g2




Options :
1. % 3idPh
2. % Iy
3.0
4. % gYg

Question Number : 82 Question Id : 97675521503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed 3 3 oF w1 fawd «siie &1 gaard! 8t 72
Options :

1. ¥ DHdh

2. % T

3. % d4

4. % QA

Question Number : 82 Question Id : 97675521503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & & o1 a1 fawey «3ife o1 uafaar T8 22
Options :

1. ¥ HD

2. % €

3. % dg

4. % ol

Question Number : 83 Question Id : 97675521504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘i1 ¢ 31 o oy Sugad GeTaRT &1 9 62

Options :




1. AT AT
2. % grg BTl
3. % TS TS
4. % T AT

Question Number : 83 Question Id : 97675521504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“tlIgT G 31 o o1y Sugerd HeTaRT I 1 52
Options :

1. & <A1 AT

2. % Y PhlcHl

3. ® M IS

4. % ITA A

Question Number : 84 Question Id : 97675521505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI =il o fHeor o & foTe Iugad dibifad &I i g7
Options :

1. % 3fig U T8l HoRIel gy-ad

2. % YY1 T ST O

3. % Y D FIY TR

4.« 3TYT IR YT R

Question Number : 84 Question Id : 97675521505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S el BT fHYur 3 & fore Iugead dieifad ®IF It 82

Options :
1. % 3 TP 5] HoRIcl ay-ad



2. % YIYT 1 IS I
3. % Y H FY IR
4. ¢ 3TYT AR SMTEYT FeX

Question Number : 85 Question Id : 97675521506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHRBT AT T TH HAT 5

I & 1T 3T ! {5y Yeg F Ufa=ATT fHar ST Tebdl 82
Options :

1. % 3fYp

2. ¢ AHTHR

3. % 3ffgHdH

4. % Taifde

Question Number : 85 Question Id : 97675521506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRBT AT T T AT B |
qTIg & ifpd 3 &) fhY Yeg F Ufawid fovar o abdr 82

Options :

1. % 3ffdp
2. ¢ YBR
3. % 3ffYDHan
4. % qafd®H

Question Number : 86 Question Id : 97675521507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘YT + 33T 1 Tel T U 1 82



Options :

1. % HIged
2. ¥ HIIEE
3. % YHIGY
4. % Yleg

Question Number : 86 Question Id : 97675521507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘U] + IS HT qE1 Iy ST 1 82
Options :

1. % Wiy

2. ¥ WA

3. % YHIeg

4. % YAy

Question Number : 87 Question Id : 97675521508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR HT AT HiY-fawde | e?
Options :

1. ¥+ 3H

2. % R+ 3

3. % M+ 3

4. % TN+ 34

Question Number : 87 Question Id : 97675521508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 1 TE IR TR

Options :



1. QU+ 31
2. % R+ 3
3. % QM+ 3[
4. % X+ 3F

Question Number : 88 Question Id : 97675521509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G+ T BT I =T FT ]2
Options :

1. ® &R

2. ¥ gt}

3. ¥ RN

4. % R

Question Number : 88 Question Id : 97675521509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G+ T PTG IR FY AR
Options :

1. % g&}

2. ¥ gt}

3. % g

4. % R

Question Number : 89 Question Id : 97675521510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o ¥ HF 91 eg SHfarad: T3 87
Options :

1. % U9




2. % Tigra’]
3.9 WY
4. % I

Question Number : 89 Question Id : 97675521510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafea & § oF 91 Wee Sfdarae I3 32
Options :

1. % Uolg

2. % Terad

3.9V IR

4, % I

Question Number : 90 Question Id : 97675521511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P Y UHR H1 a1 g2

Options :

1. # YYddd

2. % HIYdrIdh

3. % (Aygars

4. ¢ YD

Question Number : 90 Question Id : 97675521511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
F3 [HY JPR &1 a1 82

Options :

1. * JYddd

2. % {IYqED




3. % [euda®
4. ¢ JFYgaraH

Question Number : 91 Question Id : 97675521512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i 58 YHR 1 fagmor g2
Options :

1. % QIS

2. ¢ IUMATd b

3. % GBS

4. % URHATUEIYD

Question Number : 91 Question Id : 97675521512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIHT ol THR &1 faRiv 32
Options :

1. ® QIS

2. % TUIdId

3. % QARG

4. % GRHATUEIYD

Question Number : 92 Question Id : 97675521513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IETF HTA! DI TER BRI HR aTdl B FT Haald 62
Options :

1. % ORI G

2. % faurg

3. % QR 4




4. ¥ ST

Question Number : 92 Question Id : 97675521513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IAF YTl B FTER USRI B aTd BT FT Haald g2
Options :

1. % YORT Ig

2. % fayrg

3. % R UG

4. % 3{JHId

Question Number : 93 Question Id : 97675521514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST UF 8T 1” a1 | foran 1 19 i iy 82
Options :

1. % 3RMPRH

2. ¥ Jhagad

3. % (yugasd

4. FTOGID

Question Number : 93 Question Id : 97675521514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
eT U g1 1° e ot & i 1 g g2
Options :

1. #® ARIMYIH

2. % Hhagdd

3. % Fyggas

4. TS



Question Number : 94 Question Id : 97675521515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GTRTS 1G0T 7 31 BT FHHA IR IUSK fear | Iy & fooy i & e g2

Options :

Question Number : 94 Question Id : 97675521515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARTRTS SIHN A 3 T HHGA W U fear|” ared & g s A Ffe g2

Options :

Question Number : 95 Question Id : 97675521516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘TR U I8 B -Tgl 81 GhdT|* a1 & by YT A Ffe 82
Options :

1. ¥ qER Y

2. % g PH

3. % gl

4. % Byl



Question Number : 95 Question Id : 97675521516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR T T8 B Tg! 81 Thdl |’ 91ed & fhg UM H Ffe 72

Options :

4. % g gl
Sub-Section Number : 2

Sub-Section Id : 9767551369
Question Shuffling Allowed : Yes

Question Id : 97675521517 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

IR I YD Ug 3R [T Y U4l o1 9! SaR < |

T Wg Ud SR Ui &7 181, Y& SR A AW &1 8, SMifaes siR sieafdiss Ard &1 g, Rid=ia Quaifaed) ok sieR)

HfHRId BT 5 | TRAT SR QRU I g8 &, a1 fI5uur 81 98 Sleb 8 fob 1Y o1 R@ A gfadl &1 Mg # 99 g1 S8 3
Sit Y81 ], fhd 981 ol Y&t 7™ § 98 3a- S8 1 el & | 98 R A & iR Y&HdT SRTHT =Tedl 8, fohd Sicdd sietid § 8 & BRI
3D A1 AT 31 I ATat G urd | IfId § b ger Arad & YR 3R TS SURTE U SHTaTSl & ol B fored ZRIT SR 3ifes
H 37 Geufifal ! 90 Uge auT Yer 3IR R A & s Sl 4 9 361 § SYH JEAT BT Uef <al T8 76 9|

Sub questions

Question Number : 96 Question Id : 97675521518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el V¢ fhaant 82

Options :

1. % gd 3R ufg| &1

2. % IR AR GO BT

3. % TR 3R T &1




4. ¥ G&H 3R R[el 7= I

Question Number : 97 Question Id : 97675521519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRITRT &1 SUged S o g
Options :

1. % = gl

2. % ot Gpid

3. ¢ = Tl

4. % T HEAdl

Question Number : 98 Question Id : 97675521520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T BT BT HIT T &2

Options :

1. % Ui gwrd o1 gada

2. % gdf ugdr &1 9Hd=

3. % gf3 guar o ufd gon

4. TS 3R gaf Waar & s aHe

Question Number : 99 Question Id : 97675521521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ooy 7 R 31 B2

Options :

1. % fauw

2. ¥ 3qN

3. % ydr

4. ® garRI



Question Number : 100 Question Id : 97675521522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
VYW AT T Ja fpad g2

Options :

1. ¢ Wi faera 9

2. % INANHAD fabry &

3. % HHRYSD o

4. % HATHSD fapr g A

Question Id : 97675521517 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TR & eHYdD g 3R U 7T Usii o7 9gt SR <

T We gd 3R UfE o7 8T, Ger 9Tk /T A &1 7, SMfuifae 3R siemfare A o1 8, Riasiia Ruifdes) iR srfer)

HfRId $1 5 | TRMAT SR QRU I & &, a1 fa5uur 81 98 Sleb 8 fob RIU o1 R@ A gfadl 1 Mg # 99 g1 S8 3
Sit Y81, fhq 981 ol Y& 7™ § 98 Sd- S8 1 8l & | 98 A A & iR Y&HaT SRTHT =gl 8, fhg Sicdd Sfetid | 8 & BRI
I A1 AN 31 ¥ T8 T Urd | IId B o Jer Aaan & YR 3R TRATE Iure 3Ot 3TaTsit &l o &Y orgd RIT 3R 3ifRapT
o 3% TgUltal & 9d Ugd aul Y& 3R W@ A & o9 Sl gg Id 8] & SUH Y&AdT BT U&f Gal g Xg o |

Sub questions

Question Number : 96 Question Id : 97675521518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT e fordat 52

Options :

1. % qd IR uBm &1

2. % ITR 3R a0 B

3. % TR 3R IRT &1

4. G&A 3R A TS I



Question Number : 97 Question Id : 97675521519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRITRT &1 SUed S o g
Options :

1. % = gl

2. % ot Gpid

3. ¢ = Tl

4. % T HEAdl

Question Number : 98 Question Id : 97675521520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T BT HIT T 62

Options :

1. % G g1gar o1 gHd=

2. % gdf ugdr &1 9Hd=

3. % gf3 gwar o ufd gon

4. TS 3R gaf Waar & s aHe

Question Number : 99 Question Id : 97675521521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ooy 7 R 31 B2

Options :

1. % fquo

2. % 3ol

3. % Y@

4, % gdIRI

Question Number : 100 Question Id : 97675521522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
VYA AT H1 &Y [T g2

Options :

1. ¢ Wifie o 9
2. % 31T fAbT ¥
3. % AHRYSD a3
4. % YIS fdbr g A
Disciplinel
Group Number : 6
Group Id : 976755747
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 9767551177
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551370



Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675521523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The loss or impairment of the normal clotting of bloods that a minor would may result in fatal bleeding is known as:
Options :

1. ¥ Hemophilia

2. % Thalassemia

3. #* Sickle cell disease

4. % Parkinson’s disease

Question Number : 101 Question Id : 97675521523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ew%uq&o ST Pt ATHTT &1 | 81 A7 &ffd g uRumRa=y @1 3 u1g & i Ui Iad91d 81 hdl 8, Bl CESURERSIG]
NG

Options :

1. ¢ SHmIerr

2. % JQifer

3. % fyed Ja I

4. % OIfH=g1 I

Question Number : 102 Question Id : 97675521524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who can only learn selfcare socialization and oral communication skills?
Options :

1. % Educable mentally challenged

2. % Trainable mentally challenged

3. ¥ Custodial mentally challenged

4. % All of the given options



Question Number : 102 Question Id : 97675521524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 & ¥ P Had W-STHTT GHSNHN 3R Tif¥d TR HIwrd R Gl g2
Options :

1. % 3fy=nies e & avg AFRie =0 3 fgwan 9=

2. ¢ URIEUENg AHR® &9 3 f[dedi g

3. % JFREU I ARG ¥U ¥ fasai s

4. % fauu gt fapey

Question Number : 103 Question Id : 97675521525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of children have tendency to develop fear associated with personal and school problems?
Options :

1. # Visually impaired

2. ¥ Emotionally disturbed

3. % Hearing impaired

4. % Mentally challenged

Question Number : 103 Question Id : 97675521525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohg TR & sl § Safdd SR faermerd auensit @ Geftia Yo faefid o3 o ugfy gt 82
Options :

1. % E¥arfed

4. % AFRIPS ¥U I fahdim



Question Number : 104 Question Id : 97675521526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If we give auditory training to the children, then it will be beneficial for which type of children?
Options :

1. # Hard of hearing

2. % Deaf

3. ¥ Emotionally disturbed

4. ¥ Both Hard of hearing
and Deaf

Question Number : 104 Question Id : 97675521526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe g0 S o1 49U uiRierur & @ U8 59 UeR & 9= & oI ayue g
Options :

1. % g ¥ qH1 910! 9=l o forg

2. % g Al &b forg

3. % YIAIHD Y H UM &=l o ferT

4. ¢ G IHT 91 = o fo7g SR s8R &=l o fefg, aIHl

Question Number : 105 Question Id : 97675521527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which degree of hearing loss known as severe hearing loss?
Options :

1. # 20-30 dB

2. % 4560 dB

3. # 40-55dB

4. ¥ 60-75 dB



Question Number : 105 Question Id : 97675521527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU BT B} [l Dife I TTHR YT01 81 & =0 H S STl 82
Options :

1. # 20-30 dB

2. % 45-60 dB

3. ¥ 40-55 dB

4. ¥ 60-75 dB

Question Number : 106 Question Id : 97675521528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT caused due to neurological conditions?
Options :

1. % Multiple sclerosis

2. % Parkinson’s disease

3. ¥ Thalassemia

4. # Cerebral Palsy

Question Number : 106 Question Id : 97675521528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 oF a1 I, RIaoed IRt & SR ) 81dT 82
Options :

1. % Ay SRR (Multiple sclerosis)

2. % OIiH=g IAT (Parkinson’s disease)

3. « Y (Thalassemia)

4. % JURKTSS 91d (Cerebral Palsy)

Question Number : 107 Question Id : 97675521529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Abnormal comprehension or production of symbols, grammatical structure and words are the characteristic features of-
Options :

1. #* Visually impaired

2. ¥ Language disorder

3. # Physically challenged

4. % Mentally challenged

Question Number : 107 Question Id : 97675521529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U §= 18 Uciiep!, TR v TREAT 3R Ysal ! forg 3R IHgH H 9= gl 8, SGE]
Options :

1. % 96

2. ¢ YTV fadpR I IRa

3. % IRIN® 9 I fawmai

4. % AMRI® ¥ 9 famai

Question Number : 108 Question Id : 97675521530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the inner ear is damaged, which type of hearing loss occurs?
Options :

1. # Conductive Hearing loss

2. ¥ Sensory-Neural Hearing loss

3. # Mixed Hearing loss

4. ¥ Pseudo Hearing loss

Question Number : 108 Question Id : 97675521530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 3idRes B &fRd 81 SiIdT 8, o) o s U R b1 &qur g1+ gl 32



Options :

1. % AIIh 1Y Yol gTi+

2. ¢ Hadl-dFeeT yaur giiA
3. % fifydg gqur g1l

4. % BT YU BT

Question Number : 109 Question Id : 97675521531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group of non-progressive neurological condition affecting body movements and muscle coordination caused by damage to one more specific
areas of the brain is known as:

Options :

1. # Autism

2. # Thalassemia

3. # Sickle cell disease

4. ¥ Cerebral Palsy

Question Number : 109 Question Id : 97675521531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AiiTss & T a1 3w ARy &5 & &ifd & HRUT IR & e 3R ATUR™Y & TH-GY &) UHIfad B34 arelt dfFier dadt ag fufa
o fapRIRd afad & 39 e &1 [aeT ¥ SITdl &, & WHg & b &0 H ST 1Tl 82

Options :

1. % W

2. % Yo

3. % Ryepd JA I
4. ¢ YIS O1d

Question Number : 110 Question Id : 97675521532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Abnormalities of body structure and appearance from any cause at organ level is known as:



Options :

1. ¥ Impairment
2. % Handicap

3. # Special needs
4. % Disability

Question Number : 110 Question Id : 97675521532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreft It o1 & faspfa & uRum ey TRR &t WA 3R IGIT (appearance) BT SIS & FY H ST ST §
Options :

1. &ffdl

2. % 3{GHCI

3. % fIRIY SR

4. % 3UITAT

Question Number : 111 Question Id : 97675521533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a colour blind person choose the occupation to drive a railway engine, then the colour blindness will be for him:

Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Impairment

2. Handicap

3. Disability

4. Advantage

Question Number : 111 Question Id : 97675521533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e HIg U= AT (colour blind person) X& SoT T BT HGHRI AT &, <l JUITRIAT I o a1 ghft
Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. &ffct

2. HEHAT

3. ST

4. cH

Question Number : 112 Question Id : 97675521534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
That consequences of impairment in terms of functional performance and activity by the individual reflects as:

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Impairment

2. Handicap

3. Disadvantage
4. Disability

Question Number : 112 Question Id : 97675521534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hfad gRT HRTAS TR 3R fbardban & dey o afd & aRom & ®UH USRI gid &
Note: For this question, discrepancy i1s found in question/answer. So,this
question is 1gnored for all candidates.




Options :

1. &ffa
2. HEHdT

3. JhIH
4. 3Ol

Question Number : 113 Question Id : 97675521535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Underdeveloped language is a characteristic features of:
Options :

1. # Visual Impairment

2. # Hearing Impairment

3. % Speech Impairment

4. ¥ Both Hearing Impairment and Speech Impairment

Question Number : 113 Question Id : 97675521535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I RIT T 5 fIHR Bt siframeOm fa=ivar 32
Options :

1% P

2. % YAUIGY

3. % qIp QY

4.« YUY 3R 9T QY QI

Question Number : 114 Question Id : 97675521536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Seguin form board test is used to access competence of the hearing impaired child of age:
Options :



1. ¥ 5to 15 years
2. % 6to 12 years
3. % 10 to 20 years
4. % 12to 18 years

Question Number : 114 Question Id : 97675521536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁ@é@eguinfomboard)%@ﬁmﬂ m%waﬁﬁwﬁaﬁﬁmaﬁ%ﬁwmw%l
Options :

1.¥ 59154

2. % 6¥ 1294

3.% 1092099

4.% 1291894

Question Number : 115 Question Id : 97675521537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who have to develop orientation and mobility skills?
Options :

1. % Hearing impaired

2. % Visually impaired

3. ¥ Mentally challenged

4. % Physically challenged

Question Number : 115 Question Id : 97675521537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Td T Perd i fasRid B gl 82

Options :

1. % quranad



2. EPaea
3. % gHR® ¥ U I faeman
4. % IRINPH &9 Y [apai

Question Number : 116 Question Id : 97675521538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following machine translates letter by letter images from the scanner into tactile stimuli?
Options :

1. % Kurzweil Reading machine

2. * Sonic glass machine

3. ¥ Optacon

4. % Laser cane

Question Number : 116 Question Id : 97675521538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed o @ eF-3 7=iF, TR T 3eR oR 3HeR Bfadl (30w &I Wik IoHT A Siare Bl |2
Options :

1. ® Poidra ST A=A

2. % Gifie Ty 7R

3. ¢ 3IOTBI

4. % TSR o

Question Number : 117 Question Id : 97675521539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a child moves his head forward and backward while looking at distant objects, which disability he has?
Options :

1. ¥ Hearing impairment

2. % Autism



3. % Cerebral Palsy

4. ¥ Visual impairment

Question Number : 117 Question Id : 97675521539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe IS T X I TGN BT W §UY 3T RR S-S Rl 8, dl I -1 faspaTar 22
Options :

1. # HqUl dTeT

2. % WA

3. % AR UId

4. TP ST

Question Number : 118 Question Id : 97675521540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a hearing impaired child is late identified then it will affect
Options :

1. % Socio-economic status of child

2. % Speech of child

3. ® Food habit of child

4. % All of the given option

Question Number : 118 Question Id : 97675521540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS YU ST S 1 UG ox I &1 il § dl I8 DI U T
Options :

1. % g B grHToIh- e fRufd

2. ¥ g & AP

3. % g I @M DI 3T




4. ® feu U gt fawey

Question Number : 119 Question Id : 97675521541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Early intervention services are used for which of the following?
Options :

1. ¥ Infants and toddlers

2. # Adolescents

3. % Adulthood

4. ® 0Old age person

Question Number : 119 Question Id : 97675521541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ool & 3 fordos foe IR ofd: & arefl &1 SuaRT f5ar oirar 82
Options :

1. v Ry iR o=

2. % fHaRI

3. % JUIh

4. % gg Al

Question Number : 120 Question Id : 97675521542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of AYJNISHD

Options :

1. # Ali Yavar Jung National Institute of Special Hearing Divyangjan

2. # Ali Yavar Jung National Institute of Socially Hired Disabled

3. # Ali Yavar Jung National Institute of Speech and Hearing Divyangjan
4. ¥ Ali Yavar Jung National Institute of Speech and Hearing Disabilities



Question Number : 120 Question Id : 97675521542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AYJINISHD &1 JUf U 347 87

Options :

1. % 3l Yrar ST AR SEISC 3iTth WRd f3afT feaaiem

2. % 3[ci TR ST AR SXIege 3 AR g [Suacs

3. % 37cl ITaR S ARHd S ieye 3t Wi U feafi feaime
4. 3l IR ST AR S Tege T Wi s fRaf feafadids
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Question Number : 121 Question Id : 97675521543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the National Institute for the Empowerment of Persons with Intellectual disabilities situated?
Options :

1. ¥ Secundrabad

2. ¥ Mumbai

3. ® Dehradun

4. ¥ Chennai

Question Number : 121 Question Id : 97675521543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sifadh facaNTd aTel Safkidl & TRIGRIHRUT & folg AT YR Hgl (U 82
Options :

1. ¢ Ribarrare

2. % Tag

3. % CENIgH

4. % IFS

Question Number : 122 Question Id : 97675521544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The special teachers for children with disabilities who goes to 5-10 government primary schools for educating children with disabilities, are
known as:

Options :

1. #* General Teacher



2. % Ttinerant Teacher
3. * Inclusive Teacher

4. % Resource Teacher

Question Number : 122 Question Id : 97675521544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feeaiv o=l o fore famiy e it 5-10 TRt Urdfies faemeadl & i Il I AT e F U e, 3¢ i gl
Options :

1. % gy e

2. ¢ YHURIS e

3. % FHTAR e

4. % Fuay fRrefe

Question Number : 123 Question Id : 97675521545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Systematic efforts for human resource development in disability sector has started of [YDP in:
Options :

1. ¥ 1981

2. % 1971

3. % 1983

4. % 1973

Question Number : 123 Question Id : 97675521545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faaaiT &= & Ara TareE faem & e 1YDP o goaryd ua # T gul
Options :

1. ¥ 1981

2. % 1971



3. % 1983
4. % 1973

Question Number : 124 Question Id : 97675521546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has objective to bring about standardization of training courses for professionals dealing with disabled persons?
Options :

1. #® National Council of Educational Research and Training

2. % All India Institute of Speech and Hearing

3. ¥ Rehabilitation Council of India

4. ¥ National Council for Teacher Education

Question Number : 124 Question Id : 97675521546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 fege St e faaal o ufifard o3 arel UaR! & Ufeiur uTeush i ol AT IRl HRAT 82
Options :

1. % YA BISRIA 3T THDHIAA REd TS ¢+

2. % 3 3T SHe M1 Wiw s feafkm

3. ¢ Refadee 3R sifw gfsar

4. % A HISRIA BR TR TIHH

Question Number : 125 Question Id : 97675521547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who did the experiment on a hungry cat to show the process of solving problems through trial and error?
Options :

1. ¥ E.L. Thorndike

2. % B.F. Skinner

3. % Edwin Guthrie



4. % LP. Pavlov

Question Number : 125 Question Id : 97675521547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRI&UT 3R e & AT T JHRASH DI 8 B ! Uicha DI famm™ & forg 1t foreeft ox v e fomam um
Options :

1. ¥ $.Ud. YIHieE®

2. % §lUB. RPN

3. % TSfo Rt

4. % 3150 Ugald

Question Number : 126 Question Id : 97675521548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Classical Conditioning theory was proposed by:
Options :

1. # B.F. Skinner

2. % 1P. Pavlov

3. % Kurt Koffka

4. % Wolfgang Kohler

Question Number : 126 Question Id : 97675521548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A e Rigid % R R b T Tl
Options :

1. % §lUh. RPR

2. ¢ 3131, Uradld

3. % BHE HIYD]

4. % BN DGR



Question Number : 127 Question Id : 97675521549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whom of the following has NOT propounded the cognitive theory?
Options :

1. # Kurt Koftka

2. % Wolfgang Kohler

3. % B.F. Skinner

4. ¥ Max Wertheimer

Question Number : 127 Question Id : 97675521549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed o 9 fea drrers Rigia ufcurfed 8 faar g2
Options :

1. % &HC DG

2. % FIeHIT HIgeR

3. ¢ Sl UB. PR

4. % TR qUZIR

Question Number : 128 Question Id : 97675521550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory implies the idea that interaction with society and environment plays a vital role in shaping the behavior, action and abilities of a
child?

Options :

1. # Insight theory of learning

2. ¥ Socio-cultural theory

3. % Classical Conditioning theory

4. ¥ Operant- conditioning theory



Question Number : 128 Question Id : 97675521550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for R id &1 ared 39 faaR 9 ¢ fo JameT SR TiaRur & Wiy 3ic:foha s & a8, foham ofR &maist &1 SeR o+ § Hg@yul
YfRyepT T 22

Options :

1. % 3{fTH 1 iae® Rigid

2. ¢ AHISTH-ARGpias Rigid

3. % TR G RIgid

4. % fopaTud-sigpad Rigid

Question Number : 129 Question Id : 97675521551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Operant Conditioning theory is also known as:
Options :

1. # Stimulus-Response theory

2. ® Cognitive theory

3. % Classical Conditioning theory

4. ¥ Theory of Reinforcement

Question Number : 129 Question Id : 97675521551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohaTuRId- 3 RiGid &1 =g H W TS|

Options :

1. % IaoH-3far Rigid
2. % AIATHSD Rigid

3. % YR 3Had Rgid
4. ¥ Y9 &1 Rigid




Question Number : 130 Question Id : 97675521552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Piaget the third stage of Cognitive development is:
Options :

1. ¥ Concrete Operational stage

2. % Formal Operational stage

3. # Pre-operational stage

4. % Sensorimotor stage

Question Number : 130 Question Id : 97675521552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oSt & SUR IS fah™ o1 FIRRT TR B 1 82
Options :

1. ¢ T fharddd Sraw

2. % SO HihaTEd aR0T

3. % Ud-fhardd avul

4, ® Tl TROT

Question Number : 131 Question Id : 97675521553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Children move into which stage after they learn to walk?
Options :

1. ¥ Toddlerhood

2. % Childhood

3. ¥ Adolescence

4. % Adulthood

Question Number : 131 Question Id : 97675521553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

1 URaA & d1e =l fbg aRu1 § <7l Ofrd 82
Options :

1. ¢ 9% 9 DI 3ARIT (Toddlerhood)

2. % §dUH (Childhood)

3. % [HRRIaRT (Adolescence)

4. #® JYIDH Al (Adulthood)

Question Number : 132 Question Id : 97675521554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which principles of development states that development proceeds from top to bottom?
Options :

1. # Law of prediction

2. ¥ (Cephalocaudal law

3. # Proximodistal law

4. # Law of equilibrium

Question Number : 132 Question Id : 97675521554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faeTa & PH-3 Rigid g2id § o e SR 3 R &) siR giar e
Options :

1. ® galgaH &1 fAod

2. ¥ AhdIbISd aH

3. % gAY Fow

4. % FrEERT &1 g9

Question Number : 133 Question Id : 97675521555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



At which stage of development baby teeth begin to be replaced by permanent teeth?
Options :

1. ¥ Early childhood

2. % Infancy

3. % Adolescents

4. ¥ Puberty

Question Number : 133 Question Id : 97675521555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

famr o fore oRoT & RIYY & gU & aid, R gidl ¥ uiaenfid 8141 & 81 971d 87
Options :

1. ¢ RIS SR

2. % QI AR

3. % fhRIRTGRIT

4. % JIGIRY

Question Number : 134 Question Id : 97675521556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what age of development babbling occurs?
Options :

1. ¥ 2-8 months

2. # 8-12 months

3. % 12-18 months

4. # 15-18 months

Question Number : 134 Question Id : 97675521556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT (babbling), [aw™ &t fod oy A €T 82

Options :



1. ¥ 2-8 HIg

2. % 8-12HIG
3. % 12-18 HI®
4. % 15-18HIG

Question Number : 135 Question Id : 97675521557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a prone position, babies can hold their head erect at which time?
Options :

1. # First week

2. % Second week

3. # Third week

4. ¥ One month

Question Number : 135 Question Id : 97675521557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

318 g e B & SR, I {5 3y T 0T TR IS R IR ol 87
Options :

1. % Ugol 9wiig |

2. ¥ GIR UG H

3. % dRR g

4. TH ARG H

Question Number : 136 Question Id : 97675521558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is NOT true related to growth and development?
Options :

1. * Growth refers to changes in the particular aspects of the body.



2. # Development may be possible without any significant growth.
3. ¥ Growth is functional and development is structural.

4. # Growth does not continue throughout life.

Question Number : 136 Question Id : 97675521558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3SR 9 & wey & Fafifed 3 3§ oF 91 3= 981 18l 82
Options :

1 % gfg, TR & R Uggel 3 6 ar uRad &) Jahld a3
2. % fa fom freft Heaqul 9fs & Ta g1 IhdT g

3. ¢ 3G HRTED § 3R AT TR 7|

4. % gfg i *R SR} 78} &< g |

Question Number : 137 Question Id : 97675521559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT correct?

Options :

1. ¥ Development implies quantitative changes.

2. # Development is a result of maturation and experience.
3. # All changes in behaviour are not development.

4. ® Development means the whole sequence of life from conception to death.

Question Number : 137 Question Id : 97675521559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 & 91 HY- 98 81 82
Options :

1. ¢ fq&pTg BT ared AT URadT A g

2. % fqeT URUSHAr 3R 3gHd T aRuH ]|




3. % agR | Gt gRacH [ 78 5|
4. % B &1 3 § THURU ¥ AHR G dH BT Siia- HI HgUf HA|

Question Number : 138 Question Id : 97675521560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The principle of Proximal development is associated with:
Options :

1. ¥ Writing

2. # Personality development

3. # Intelligence

4. ¥ Growth and development

Question Number : 138 Question Id : 97675521560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JHIIR] fabr™ (Proximal development) T Rrgia J TefIa g
Options :

1. % foreq

2. % Hfkicd fdbr

3. % gigHd

4. ¢ i IR oo

Question Number : 139 Question Id : 97675521561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which common emotional patterns do develop during babyhood?
Options :

1. ¥ Curiosity and affection with toys

2. % Anger and jealousy

3. ® Fear and irritation



4. # Joy and Apathy

Question Number : 139 Question Id : 97675521561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS ST F SR BIH-J YA HIGTEHD Te- [qhierd Bld 82
Options :

1. v faet & ufr forgmen ok w8

2. % PIY 3R g

3. % g 3R ST

4. % I SR IR

Question Number : 140 Question Id : 97675521562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is NOT correct for fluid intelligence.

Options :

1. # Fluid intelligence slows down and decrease with age.

2. # Ifis genetically determined.

3. ¥ It is relatively dependent of formal education and experience.

4. ® Tt includes abilities such as perceptual or manual speed.

Question Number : 140 Question Id : 97675521562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed & I ®IF 91, TR g & Jay T 95 181 57
Options :

1. % TR g MY g o A1y it 81 Sl 8 3R °e St ]
2. % Ug IIaf® wu ¥ Fuikd gidt g1

3. ¢ I8 SUeTdHd SNuaTRe el 3R 3yd R MR g g1
4. % O YRS T A3 dTd ST &Ha A |
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Question Number : 141 Question Id : 97675521563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"Intelligence includes one general factor and several specific factors:" who propounded this theory of Intelligence?
Options :



1. ¥ Charles E. Spearman
2. % Alfred Binet

3. # T.G. Thurston

4. ¥ Edward L. Thorndike

Question Number : 141 Question Id : 97675521563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"FGTT T U IR BRS R P [ARIE HRS WA 81 § 1" A & 39 Risid ol fbae ufoarfed fasan g2
Options :

1. ¥ T 3. SRR

2. % 3felhs forie

3. % A5 ¥A

4. % USIS Ul YIHSTED

Question Number : 142 Question Id : 97675521564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following test of intelligence propounded by Cattell?
Options :

1. # Coloured progressive matrices

2. % Theory of fluid and crystallized intelligence

3. % Block design test

4. % Performance Intelligence test

Question Number : 142 Question Id : 97675521564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o § & 91 gfarr uReur sed gRI ufaared g2
Options :

1. % Qi oot AfeaE




2. ¢ WA 3R fohedipd gfga o1 Rigia
3. % wid S8 URiem
4. % Y& gfgu uderm

Question Number : 143 Question Id : 97675521565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who made the first intelligence test in 1905?
Options :

1. ¥ Binet and Simon

2. % Wechsler and Arthur

3. # Cattell

4. % Spearman

Question Number : 143 Question Id : 97675521565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1905 T Y gfaT ui&r foba fovam um
Options :

1. ¢ foeie SR wgHA

2. % JRER 3R MR

3. % e

4. % TROREA

Question Number : 144 Question Id : 97675521566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following test is used to assess the intelligence of mentally challenged children?
Options :

1. # Minnesota Test

2. % Bell inventory



3. % Seguin form Board Test.

4. ® Edwards Personal Performance Schedule

Question Number : 144 Question Id : 97675521566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AHRIS 0 Y fadmai g & gfa BT Tdhad o3+ & g Fafeiad § 9§ fard ukteion o1 SuanT faar S g2
Options :

1. % fiesrer utem

2. % qc gdcit

3. ¢ T BiH §18 TRIefu

4. % TSISY Td IWHIHY S

Question Number : 145 Question Id : 97675521567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the theory of three dimensional structure of intellect developed by J.P. Guilford, intellectual actively has which of the following
dimensions?

Options :

1. # Cognition Production and Evaluation
2. # Contents, Cognition, and Evaluation
3. # Operations, Cognition and Product
4. ¥ Operations, Contents and Product

Question Number : 145 Question Id : 97675521567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S FAw e gRT fasRid gfa &t -t Iad & Rigid & ouR, F9 & 9 &F 3 Sifgs Tiaafy & S g2

Options :
1. % Y, IATG 3R e
2. % IR, Y SR et




3. % IIeH, 1Y 3R IS
4, « IITA, I 3R IdTe

Question Number : 146 Question Id : 97675521568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the behavioural problems of adolescence ?
Options :

1. # Laziness and crying

2. ¥ Excessively moody and rebellion against parents

3. % Lack of appetite and destroying school property

4. # Crying and excessively thoughtful

Question Number : 146 Question Id : 97675521568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 SH-H fBRERI & FaeR 6t 0w 52
Options :

1. % TR 3R AT

2. ¢ R Aol iR ATar-far & faars fagig!

3. % G DI B 3R WA B YUY B Y BT

4. % 1 3R AP faar=ha

Question Number : 147 Question Id : 97675521569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is NOT true about behavioural problems?

Options :

1. ¥ Behavioural problems are hereditical in nature.

2. ® They are caused by social environment of the child.

3. # The child shows behavioural problem to get rid of frustrating circumstances.



4. # It may arise due to failure in life.

Question Number : 147 Question Id : 97675521569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HagR Jaeht grerell & IR H o1 9 ) /7

Options :

1. ¥ AgR Yath AR AR Uefd i gl g |

2. % 3§ & JHIRTS aTaTaRvl & HRUT Bl 3|

3. % fRTeTSFe URUTIT ¥ GedRT UM & ot s e el v feemar g1
4. % Ug Sfigd H 3w adl & HRU I 8 Jbal

Question Number : 148 Question Id : 97675521570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following are NOT largely responsible for behaviour problems of children?
Options :

1. #® school environment

2. % Home environment

3. ¥ Social workers

4. ® Child's frustration

Question Number : 148 Question Id : 97675521570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeiRad 7 @« 9= ! gagR Jadt gHwral & e 9 THH R ier g 82
Options :

1. % foeeg &1 AR

2. % TR BIARIA

3.« gHTSIh prADdl

4. % g ot A=




Question Number : 149 Question Id : 97675521571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The word Education has been derived from:
Options :

1. ¥ Educere

2. % Eduware

3. # Edutire

4. % Edustatus

Question Number : 149 Question Id : 97675521571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T9®HT (Education) UG B ST U s gl
Options :

1. ¥ W@B‘R (Educere)

2. # W(Eduware)

3. ¥ USYCTUR (Edutire)

4, ® W(Edustams)

Question Number : 150 Question Id : 97675521572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the 'objective of value education?
Options :

1. # Inculcation of good manners.

2. % Developing respect for the dignity of Individual and society.
3. % To impart training in simple marketable skills.

4. # Developing tolerance towards different—religion.

Question Number : 150 Question Id : 97675521572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e 7§ o a1 e e o1 ez T R2
Options :

|, % 3y GWHRI B! 7T H 931

2. % fad 3R JHTS D1 TRAT & T 3meR fasmfd &l
3. ¢ S9R & TFY TR S H U0 U 6T

4. % fafl yHf & Ul Sfgrar &1 fawmg FH=T|

Question Number : 151 Question Id : 97675521573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The branch of philosophy which deals with knowledge is known as:
Options :

1. # Axiology

2. % Sociology

3. # Metaphysic

4. ¢ Epistemology

Question Number : 151 Question Id : 97675521573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ERIRIRG 1 g AT o I & e &, Sl 5|
Options :

1. % HegHHTE

2. ® FHISIRRA

3. ® qaHHT

4. FEHHRT

Question Number : 152 Question Id : 97675521574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Who formaliz 'inductive reasoning'?
Options :

1. # Aristotle

2. ¥ Francis Bacon

3. # Dewey

4, % Pestalozzi

Question Number : 152 Question Id : 97675521574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS adh' B! fhem siuanie & feam
Options :

1. % 3R]

2. ¢ iRk g

3. % gl

4. % U

Question Number : 153 Question Id : 97675521575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Education is the manifestation of the divine already present in man". Who said this?
Options :

1. ¥ Swami Vivekanand

2. % Gandhiji

3. # Dewey

4. % Aristotle

Question Number : 153 Question Id : 97675521575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rre ST & Ugd 3 Hivlg food guiar &t sifieafad g 1" a8 fhe el 82




Options :

1. ¢ Tt fadeHg
2. % Trieisit

3. % Sa

4. % 3]

Question Number : 154 Question Id : 97675521576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following teaching methods is NOT related to Naturalism?
Options :

1. ¥ Play way method

2. % Lecture method

3. ¥ Montessori method

4. ®% Experimental method

Question Number : 154 Question Id : 97675521576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7§ o @ sremu Ay vepfaare @ et 7Y 22
Options :

1. % 9 fafg

2. ¢ reH fafy

3. % HieE fafy

4. % TONTIED fafe

Question Number : 155 Question Id : 97675521577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT main function of home in relation to the development of the child as a social being?
Options :



1. # Socialization
2. % Acculturation
3. ¥ Teaching specific academic skills

4. # Sense of belongingness.

Question Number : 155 Question Id : 97675521577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= & g Uit & U H [dem & o 9 & 9§ o1F 91 R &1 I3 &1 7181 82
Options :

1. % GHSIDHROT

2. % HXPIAUTRIA!

3. ¢ STy fAfkiy aifdre Hiere

4. % 3UAUT BT HId

Question Number : 156 Question Id : 97675521578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How does Community influence the school?

Options :

1. ¥ Community influences the classroom transaction

2. ¥ Community influences the development of curriculum
3. # Community influences the teacher's knowledge

4. ® Community influences the number of teachers in the school

Question Number : 156 Question Id : 97675521578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG WHd DI B THIAT Bl 62

Options :

1. % YHGE Hefl & HagR Pl YHIdd HaT 5 |



2. v UG UTeded & [de T &1 THIfad ol g
3. % UM e & M B THTad Hal g
4. % JHery fagray o Riefw! ot We 1 yHIad dal g

Question Number : 157 Question Id : 97675521579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
School can be known as social agency because:
Options :

1. ¥ it transmits traditional culture

2. % it teaches basic academic skills

3. # it provides grades

4. % it conducts examinations

Question Number : 157 Question Id : 97675521579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faRITerg &1 AT SR T BT off Jobdl 62
Options :

1. ¢ Fifdh I8 URURS A¥Hfd HI THIRd R 5|
2. % Fifcs Ig FTET Vs DITa Rara 5
3. % Fife I8 IS UgH IAT 5|

4. % I U5 UI& AT PRl 5

Question Number : 158 Question Id : 97675521580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which agency assess the higher education agencies in India?
Options :

1. # AICTE

2. % NCERT



3. ¥ NCTE
4. ¥ NAAC

Question Number : 158 Question Id : 97675521580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T TR YR | I RI&07 TR BT 3THAT FA 82
Options :

1. % AICTE

2. % NCERT

3. ¥ NCTE

4. ¥ NAAC

Question Number : 159 Question Id : 97675521581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is related to the distance education?
Options :

1. % Education outside structured curriculum

2. # Education in regular classroom

3. % Flexibility in space and time

4. # Systematic education in school

Question Number : 159 Question Id : 97675521581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o & @ o1 a1 ey Rien 3 gefea 82
Options :

1. % TR UTeashd o dTeR FRI&f

2. % {1gferd e H fRiem

3. ¢ RJF 3R T H Rl




4. % faerery O goaafyd fRen

Question Number : 160 Question Id : 97675521582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an advantage of formal Education?
Options :

1. ¢ Structured and systematic learning process

2. % Chances of bad habits adoption

3. # No specific time span

4. ® No need to hire experts

Question Number : 160 Question Id : 97675521582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed o @ 319 91 o= g &1 Te aH 82
Options :

1. ¢ TR SR Yoaaryd e ufehan

2. % T Tl DI SO B FUTGT

3. % Pis ARy 99 safy g

4. % TR B FIged B B AT hdT Tel
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Group Maximum Duration : 0
Group Minimum Duration : 0
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Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 9767551180
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Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 9767551373

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 97675521583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of IEDC ?

Options :

1. #* Inclusive Education for Disabled Children
2. ¥ Integrated Education for Disabled children
3. % Institute for the Education of disabled

4. # Integrated Education of Disabled Council

Question Number : 161 Question Id : 97675521583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IEDC 1 Juf &0 182
Options :



1. % SHIRIG TR BR fedacs faegd
2. ¢ SEUCE TIHTH B fedacs faega
3. % SREHYC BR & T A [SHeS
4. % FEUCS TYH YA W feUacs B3R

Question Number : 162 Question Id : 97675521584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many disabilities are there in RPWD Act, 2016 ?
Options :

1. % 16

2. % 7

3. % 18

4.9 21

Question Number : 162 Question Id : 97675521584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RPWD 31fITH, 2016 & framt 31&mamd (disabilities) XM 82
Options :

1. # 16

2. % 7

3. % 18

4. ¥ 21

Question Number : 163 Question Id : 97675521585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT the main aim of the Rehabilitation council of India?
Options :

1. # To regulate training policies and programs in the field of disability rehabilitation.



2. % To provide fund to the institutions
3. % To standardize training courses for professionals working with PWD

4. ® To recognize institutions running courses in the field of disability

Question Number : 163 Question Id : 97675521585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frfiad # Q& 91 YR Yar URve 1 7o 3220 781 82

Options :

1. % famaiTar gAaie & &= 8 ufRremr Hifadt ok srfwdl & fafafta s

2. ¢ Y131 I [ g™ A

3. % PWD o 1Y TH R dTcl URIGR! o oIl UfR1&f01 UTaash i &1 H-eh bR 0T e |
4. % fqHATar & &7 H UTeushyd I aTd IR &) JI=0dT ST

Question Number : 164 Question Id : 97675521586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scheme is replaced by IEDSS Scheme?
Options :

1. ¥ I[EDC

2. % SSA

3. # RMSA

4. ® 1IEDS

Question Number : 164 Question Id : 97675521586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o & SH-t GISH1, IEDSS IS gRT UTRATIUd 3t 715 87
Options :

1. ¥ IEDC

2. % SSA



3. ¥ RMSA
4. % [EDS

Question Number : 165 Question Id : 97675521587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main objective of ‘SSA' is:

Options :

1. #® Universalization of higher education.

2. ® Providing canes to the visually impaired teachers.
3. ¥ Universalization of elementary education.

4. ® Providing education to secondary level students.

Question Number : 165 Question Id : 97675521587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SSA' BT T I T §?

Options :

1. % 3= e &1 gravefieRu|

2. % ?@Wﬁ&lﬁaﬁw(canes)wml
3. ¢ IR RI&M BT FraHIHTesRul|

4. % HHHD TR b BT DI AT U

Question Number : 166 Question Id : 97675521588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of ADIP scheme?

Options :

1. # Aids and Appliances for disabled person

2. # Aids for disability Institutions and Purchase

3. % Assistive devices for disabled person



4. ¥ Assistance to Disabled Persons for Purchase / Fitting of Aids and Appliances

Question Number : 166 Question Id : 97675521588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ADIP TISHT &1 JUf & &7 §2

Options :

1. % U89 US Ul B fEqees o

2. % TS BR fSafaferdt Sheeyziv ts w=w

3. % R fearzay ®R fedses wiA

4. ¢ R ¢ fETacE T BR IR / BT 31 Usy Us T

Question Number : 167 Question Id : 97675521589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which article of the Constitution directs the State to provide free and compulsory education for all children (including the disabled) until they
attain the age of 14 years?

Options :

1. ® Article 54
2. ¥ Article 45
3. # Article 36
4. % Article 34

Question Number : 167 Question Id : 97675521589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfaem & g srq=se & sy & gt s=at (Reaai afed) &1 14 a9 &) 3y ae (- Yewp 3R Sifard e Uem o3 &1 e fear mar g2
Options :

1. % 396 54

2. ¥ TG 45

3. % 3Jw9G 36



4. % 3G 34

Question Number : 168 Question Id : 97675521590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"The school organization should be dynamic in nature, not static." which principle is this?
Options :

1. ¢ Principle of flexibility.

2. % Democratic principle

3. # Child-centered principle

4. ® Community centered principle

Question Number : 168 Question Id : 97675521590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T UpTa | Taiia g1 anfey, R &1 a8 &b a1 fRigia 82
Options :

1. ¢ g &1 fRygid

2. % Adities RIGid

3. % qol-cbfad Rigid

4. % g bigd Rigid

Question Number : 169 Question Id : 97675521591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the significance of school organization?
Options :

1. # To ensure smooth functioning of a school

2. % To avoid under and over utilization of the resources

3. % To improve the socio-economic status of children.

4. % To create a professional image of a school



Question Number : 169 Question Id : 97675521591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafRad o ¥ SF 91, Thd W16 &1 Th Hed T8l o7
Options :

1. % Ipd o FARS YdTeH DI YR BT

2. % GO & B MR 31IE ITART &Y T |

3. ¢ §=l &1 ATHTE- TS fRUfd & guR am|

4. % IHd ! URIGR B I

Question Number : 170 Question Id : 97675521592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most common type of information often included in case histories is:
Options :

1. # Student's progress

2. # The results of Judgments

3. # Marks statement of previous classes

4. ¥ Past and Present treatments

Question Number : 170 Question Id : 97675521592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&y Rt & Urg: i &1 9 arelt Tk AR bR $I SHSR! B AT 82
Options :

1. % B B I

2. % fAoigl o aRomg

3. % fUSl Bafsl & 3idh

4. ¢ fTA SR IHM gl



Question Number : 171 Question Id : 97675521593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Continuous and comprehensive Evaluation (CCE) was introduced by:
Options :

1. ¥ NCERT

2. % CBSE

3. % NCTE

4. % RCI

Question Number : 171 Question Id : 97675521593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tqdd 3R IS i (CCE) fhds gRT Y= favar mar um
Options :

1. % NCERT

2. % CBSE

3. % NCTE

4. % RCI

Question Number : 172 Question Id : 97675521594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which assessment measures that how much a student has learnt from the class through an examination conducted at the end of a term?
Options :

1. ¥ Summative Assessment

2. # Formative assessment

3. % Non formal assessment.

4. % Informal assessment

Question Number : 172 Question Id : 97675521594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

PH-1 e e 9 o 3fd H ST U TRIe & 1 ¥ I8 HTH e Hdl ¢ [ [hd] S A Th BT o1 Ui g2
Options :

1. ¢ TS G

2. % TIATHD HedihA

3. % TR-3My=nie Gegid

4. % SEAIRS i

Question Number : 173 Question Id : 97675521595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the duty of head of school?
Options :

1. #® Proper maintenance of accounts of the school

2. ® To handle official correspondence relating to the school
3. ¥ To solve the family problems of students

4. ® To plan the year's academic work

Question Number : 173 Question Id : 97675521595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead # 9 &1 91 faaray & U &1 Sdad 8l 82
Options :

1. % Ipd o WIdl T IfId TEEd

2. % Tpd Y A& MUBIRG TARIR BT FHTTAT

3. ¢ B P UIRATR S FHRATST BT JHTUT HRAT

4. % g9 & QeI B B AT ST

Question Number : 174 Question Id : 97675521596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



An approach of education, towards educating the children with disability with that of normal ones within the same roof is known as:
Options :

1. ¥ Inclusive education

2. # Integrated education

3. # Special education

4. % General education

Question Number : 174 Question Id : 97675521596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UF g Bd & -iId =0 g & 1Y faai s o) fRfdra v ot fa=m & Rienm & efPwivr &) o g1 oidl 82
Options :

1. ¢ gHTaR Rren
2. ¥ Upidd IR&r
3. % Qi forem

4. % ATy fRref

Question Number : 175 Question Id : 97675521597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the objective of Inclusive education?
Options :

1. # To address the diverse needs of all learners.

2. % To reduce the barrier's inside schools

3. % To prepare the curriculum for normal students only

4. # To strengthen the capacity of the education system to reach out to all learners.

Question Number : 175 Question Id : 97675521597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeed 3 A &9 a1 gaash fRien &1 e T 8

Options :



1. % i FRrenfiat @ fafay smaxaemarsit &1 g1 =Tl

2. % IHdll o 3 DI AT B HH HIAT|

3. ¢ Had Y I & (oY U3 daR BT

4. % gt fR1enfiat ao ugem & fore Ruan womelt 3t &@ar i Hoied BT

Question Number : 176 Question Id : 97675521598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an inclusive school students eat at the same lunch tables and play together in the playground. Which type of inclusion is it?
Options :

1. #® Physical Inclusion

2. #% Academic Inclusion

3. % Political Inclusion.

4. ¥ Social Inclusion

Question Number : 176 Question Id : 97675521598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JHIORI WHd H B TP &1 0d 8 IR 1A § 3R WA & HeH H U 91 Wald ¢ | I8 [ UHR BT JHGRH 82
Options :

1. % YRING JHGRA

2. % Qe JHERH

3. # JFITAD JHARH

4. ¢ IS JHIAH

Question Number : 177 Question Id : 97675521599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following physical inclusion exists?
Options :

1. ¥ When all students have equitable access to all facilities.



2. ¥ When all students engage in the teaching learning process.
3. # When all students participate in the same club.
4. % When all students play together

Question Number : 177 Question Id : 97675521599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffad 7 3 fead Yide garem aeg 2

Options :

1.  oq 9t Sl 1 gt faensf g 9= ugd U 8|
2. % OF Y BT 3reaTu- 31 Ui § Gau gid g |

3. % od O O T 8t g § YT d & |

4. % T g B TH Y Wad ] |

Question Number : 178 Question Id : 97675521600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the scope of Inclusive Education?
Options :

1. #® Valuing all students equally

2. # Reducing barriers to learning

3. ¥ Viewing difference between students as a problem

4. ® Focusing increase participation of all students in the cultural programs

Question Number : 178 Question Id : 97675521600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferiRad 7 @ o a1 gaexf e o1 e gl 82

Options :
1. % gy I B U U A Jegd ¢TI

2. % TR 3774 Tl T3l &l HH HIAT




3. ¢ B & S 3R Bl JHT P =0 H ST

4. % giepias Hramdl # gyt faenfial @ yriieRl 9gM IR eaF igd S

Question Number : 179 Question Id : 97675521601 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

An approach that ensures that everyone has access to the same opportunities is called:

Options :

1. ¥ Equity

2. % Accountability
3. % Reliability

4. ® Relevance

Question Number : 179 Question Id : 97675521601 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

T DB o 78 R i & b it ) Tam 3wl d uga 8, HEA 5

Options :

1.« JqHdI

2. % SdIaqg!
3. % fayg-irgar
4. % YGRS

Question Number : 180 Question Id : 97675521602 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the fundamental elements of inclusive school?
Options :

1. # Access, Equality and Reliability

2. # Equity, Reliability and Empowerment

3. ¥ Access, Equity and Empowerment

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4. # Accessibility, Equity and Reliability

Question Number : 180 Question Id : 97675521602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR faeTed & Hd da 1 82
Options :

1. % Ugd, AT 3R fayz=ierar

2. % g, fayeaar 3R iR
3. ¢ UEd, HT 3R ST

4. % JAYT, FHAT 3R fag=iaarn
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Question Number : 181 Question Id : 97675521603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of learning, students work in groups to complete tasks collectively toward academic goals?
Options :

1. # Peer tutoring

2. ¥ Cooperative learning

3. # Distant learning

4. ¥ Visual learning.

Question Number : 181 Question Id : 97675521603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e THR & 3T H B e ©U 4 Afed Aed! &I I B b 1078 JHG! H B d3d 87
Options :

1. # ﬂ?q'l_éof(peer) HA

2. ¥ Gganft {eqg-

3. % X AYY

4. ® Y ALY

Question Number : 182 Question Id : 97675521604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Peer tutoring is:
Options :

1. ¥ Students teaching each other on one to one basis



2. # Students learning together in a classroom
3. # Students learn in a group

4. # Students learn individually

Question Number : 182 Question Id : 97675521604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
m(peer) 3T 132

Options :

1. ¥ Thdh YR W TS W DI UG B
2. % P&l H Th Y AW 5 B

3. % gOg U UG8 91

4, % IRHTd ¥U Y G 5 B

Question Number : 183 Question Id : 97675521605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of teaching and learning to the students of differing abilities in the same class is called:
Options :

1. #® Relevant instructions

2. % Modulated instructions

3. # Special instructions

4. ¥ Differentiated Instructions

Question Number : 183 Question Id : 97675521605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &) D& H faftr dvaarsil arcl faenfil & srearu-sieree o1 ufshar 1 deard! 62
Options :

1. % URiffie fgwr

2. % Higfera e



3. % faRy fAdw
4. ¢ faufea Fdw

Question Number : 184 Question Id : 97675521606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How can we increases the physical accessibility of schools?
Options :

1. # By creating Awareness

2. # By changing the attitude of parents

3. ¥ By making ramps in schools

4. ® Through the counselling of parents

Question Number : 184 Question Id : 97675521606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 Tpall Bl Hifdes Jaudl &1 HY S¢T Tobd 32
Options :

1. % SRl Ul B

2. % HIAI-OdT BT TSIRAT 96 B

3. ¢ fommerdl o ¥ S e

4. % TTAT-foa1 BT RER! R

Question Number : 185 Question Id : 97675521607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not true about Universal Design for Learning?

Options :

1. # Design learning experiences that accommodate the varying level skills and abilities among students.
2. # Reduces the need for special adaptations for students with disabilities.

3. ®# Maximizes learning for all students



4. ¥ Give emphasis on "training to the parents.

Question Number : 185 Question Id : 97675521607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRaa & forg gfadia feoig & Yay o SH-91 fddhed It el 82

Options :

1. % feoea AT & 3 3HT o BT & ST STHT-3THT TR & DI 3R &SN B! AR HRd g
2. % feai BHEl & o faRY SrI@aH &1 STavadhdl &) H dxal g |

3. % g B & o ifF T &) ST |

4. AT DI RO T TR SR <l g

Question Number : 186 Question Id : 97675521608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UDL is based on which of the following principles?
Options :

1. ¥ Engagement, Representation, Action and expression
2. # Engagement, transition and Evaluation

3. ® Representation, continuity and Action

4. ® Evaluation, transition, Action and expression

Question Number : 186 Question Id : 97675521608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UpL Fgfeiad 7 9 fog Rigid R smufkd g2

Options :

1. ¢ Geuar, fAeuur, fpar 3R sifyeafad
2. % G, YehHUT 3R JedidhH

3. ® AU, gracrdr iR foean

4. % Tegice-, YepHur, fopar 3R Sifiaafad




Question Number : 187 Question Id : 97675521609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is CORRECT for inclusion of a hearing impaired child?
Options :

1. # Use of talking books

2. % Use of tactile graphs and diagrams

3. % Use of sign language

4. ¥ Use of tape-recorders

Question Number : 187 Question Id : 97675521609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SaUT ST S & ST JHTARN araraRur & fafor 3 forg Fafafea & s a8t 82
Options :

1. % eqgifdd gl ol SUTNT

2. % WRIUIY WP 3R 3RG! BT ITART

3. ¢ Hichicidh HINT DT SUIN

4. % CU-RDISI BT YA

Question Number : 188 Question Id : 97675521610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of teaching learning material we should use in an inclusive classroom when we have a student with visual impairment?
Options :

1. # Use of Flash cards

2. ¥ Tactile diagrams

3. ¥ Material with small print

4. # Projector

Question Number : 188 Question Id : 97675521610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR B o o7 GHIGRN Hefl | gH o UhR B AT 1&g YT BT SUANT BT INge?
Options :

1. % TR BTS T ST

2. ¢ WY IR

3. % Bic flic a1l urey IrHt

4. ® Jolgey

Question Number : 189 Question Id : 97675521611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How can we control the 'out of seat behaviour' of intellectually disabled children?
Options :

1. ¥ Provide work in small segments followed by a break

2. % Tell him to read a chapter

3. % Provide a comfortable chair

4. % Allow him to go around

Question Number : 189 Question Id : 97675521611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Sifad ¥ U J 3f&M I & 33T 301t Rie fogfaay o ol Fafad o= 9avd 82
Options :

1. ¥ 8% d GUBIC B THe A HH S|

2. % I TH AT UgH & ol Hg |

3. % U RIGHAD G| U B |

4. % JUIRIWITH G|

Question Number : 190 Question Id : 97675521612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What should we do in a classroom when a child is unable to write?
Options :

1. # Can say not to write

2. % Tell his teacher to write

3. ¥ Provide adequate time or scribe

4. % Tell him to read

Question Number : 190 Question Id : 97675521612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Od BIs gl forge | 3R g1 o 8 Fafl § 1 ST a1ge?
Options :

1. % I forgq & o A = 9ahdl § |

2. % ISP Y& I foraw & fog we

3. ¥ T 99T 1 Yfdeiad Ua &l

4. % IY UG & faw waT|

Question Number : 191 Question Id : 97675521613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following techniques are not used generally for learning disabled children?
Options :

1. # Use short, brief directions

2. ¥ Use tactile pictures

3. # Use consistent language, colour cues

4. ® Use pictorial illustrations

Question Number : 191 Question Id : 97675521613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 7 9 HH-T dop-itep TRTH Ufshar & Siem s=i &) Rram & fow Irr=aa: SudiT 781 1 Sl 82




Options :

1. % Ble, A fAE= &1 STt |

2. « TRV Al 1 UGN BT

3. % I HTHT, T Yl DT IUART DHRAT|
4, % g TV BT STINT HRAT

Question Number : 192 Question Id : 97675521614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is not the role of a regular classroom teacher in inclusive education?
Options :

1. ® Provide varieties of options to motivate each child

2. ® Encourage independent and small group work

3. #® Ongoing assessment and student evaluation

4. ¥ Developing individualized educational plan for disabled students.

Question Number : 192 Question Id : 97675521614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARl Rren o v Fafta wen Ried &t 71 YT T8l 82
Options :

1. % UdD g Dl IR B & e faftrd gbR & fdeed e |
2. % G 3R BIC T H1A! B! UiedTied BT

3. % qad e 3R ST JedidhH

4. ¢ T B & foru AfFaTd Afeie AT TR BT

Question Number : 193 Question Id : 97675521615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which the following is TRUE for mainstreaming of mild mentally challenged students?
Options :



1. ¥ The other children will acquire better understanding of the nature of their disability
2. # This will be stigmatizing and humiliating for other children
3. # Mentally challenged children will feel segregation

4. ® The self-esteem of mentally challenged children will be low in regular classroom

Question Number : 193 Question Id : 97675521615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g RIS ¥U I fasmai S & g oR1 H @1 & fou Fgfiafed A o s ad g2
Options :

1. ¢ 3 S 39D [AH AT D1 UPHTd DT SgaR JHH U B |

2. % Tg 3G Il & foIU waiferd 3R SI9HMSHS B

3. % ORI U Y [dhdiT o= 3 Tegd |

4, % Tg0d Hen ¥ HH AFRIS 0 3 f[demdiT gl &1 TH-GHF= sl

Question Number : 194 Question Id : 97675521616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the physiological method of Seguin used for mentally challenged children?
Options :

1. # Which stresses that children learn by doing

2. ® A teaching method based on the assumption that education should be enjoyable
3. ¥ An educational program stressing the training of the senses and motor training

4. ® A teaching method emphasizing practical knowledge

Question Number : 194 Question Id : 97675521616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RS &0 ¥ f[AHaiT s & A SXWHTA B o aTel Wg &1 IR fafer g2

Options :

1. % 8 39 91d IR 9d odl ¢ [ o= B HRd g¢ Arad g |




2. % TH YT TGId ol SH YR W 1R g for Rie g@e gt =gl
3. + Sfeal & ufreror 3R Hiex Ui R §d 39 9Tl U Afeid i |
4. % IIEING JH W SR e aTell U 37eATI- UGl |

Question Number : 195 Question Id : 97675521617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How parents can be benefitted by the partnership with teachers in inclusive education?
Options :

1. # Educators acquire a better understanding of families

2. ¥ Parents increase, interaction with their disabled children

3. % Parents can increase socio-economic status of their children.

4. % Parents can get money from schools

Question Number : 195 Question Id : 97675521617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TETaRi e & Rigrp! & A1 ARIGRT A AT S8 AryIf=ad 81 9bd g7
Options :

1. % fRrefes ORGRI B dgaR THS BTRIA Hd 5 |

2. « A1 o1 3UA feeuiT = & 1y 3 fhar gt g

3. % [A-far ore g Bt Aol -3 fufa &1 9g1 I g |

4. % TTQ1-FOaT & Tpdl 9 U i gadr g |

Question Number : 196 Question Id : 97675521618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the benefit of Co-taught classrooms?

Options :

1. ¢ Students have the opportunity to learn from two teachers having different teaching styles

2. % One teacher can handle the whole class in better way



3. # The teacher can punish the students

4. ® The teacher has to use lesser skills and knowledge in the classroom

Question Number : 196 Question Id : 97675521618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8-RAET (Co-taught) HET3N BT T TTH 82

Options :

1. B & STET-S1e fR&or el ara < Rrefep! ¥ TR &7 S/awR e |
2. % U R T Ha B I8k i I THTA T g |

3. % e Bl B ST R IPaT B

4. % &P B H&TH HH DI 3R JH BT SYANT AT USAT 5|

Question Number : 197 Question Id : 97675521619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the principle of rights-based approach?
Options :

1. # Participation

2. ¥ Relativity

3. # Equality

4. ¥ Empowerment.

Question Number : 197 Question Id : 97675521619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol # 3 o 91, 3fieR srutid ef¥eiv o1 Rigid =gt o2
Options :

1. ® FEHIFTAr

2. ¢ QY&

3. % HHMEI



4. % AfYBIRA

Question Number : 198 Question Id : 97675521620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is NOT a challenge in successful inclusion?
Options :

1. ® Infrastructural barrier

2. % Negative attitude

3. % Small size classes

4. ® Peer rejection

Question Number : 198 Question Id : 97675521620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T JHIGRE & 1 gl T8l 87
Options :

1. % IIATHAD T

2. % THRIAD 3341

3. ¢ BIC 3MBR i H&MY

4. ® W(Peer) Hm

Question Number : 199 Question Id : 97675521621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the infrastructural intervention for successful inclusion?
Options :

1. # Ramps in every school

2. # Barrier free access in classroom

3. # Provision of proper light

4. ¥ Ensure the community participation



Question Number : 199 Question Id : 97675521621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfIed & ¥ 3 91, % HARM & U WRaTEd ey T8l o2
Options :

1. % U3 faameg #3y

2. % P& T 91T Jod Ugd

3. % U b1 B R

4. ¢ I FeHIRTAT JRATEd B

Question Number : 200 Question Id : 97675521622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which approach can develop positive attitude among students towards inclusive education?
Options :

1. ¥ Child to child approach

2. # Child to teacher approach

3. # Child to Parent approach

4. ® Structural approach

Question Number : 200 Question Id : 97675521622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

garaeh fRren & ufa aE & HH-91 = DHIv GHRIAS 941 fasfid & Iadr g2
Options :

1. ¢ 9 Y g BT b0l

2. % g Y fR1grep BT EfFhiv

3. % g 9 HId1-fUdr 1 EBhiu

4. % YITTHD TP



